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pl -37.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nui Zs4e+u4 [ 25
- pO 4224+ 0.0
pL -35.99+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nup.1/8e+u4 / 25
- pO 4242+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

T nai zove+ud [ 25
4238+ 0.0
-36.41+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,7,2)

AT 1nuiLu4/e+04 /25
_- po 4233+ 0.0
o pl -37.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

1000

“rnuiL3b1e+u4 / 25
- pO 4224+ 0.0
[ pl -35.27+ 0.00

TP delay [ns]

TVC(cbch) (0, 7 10

©1nuzplae+ud [ 25
= po 4258+ 0.0
L pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (0,7,14

T rnuiLzule+u4 / 25
- pD 4239+ 0.0
L pl -35.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT rnuiL1bse+ud [ 25
- po 4231+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nui 3yve+u4 / 25
- pO 4219+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

EEALEVX u49e+u4/25
4259+ 0.0
-36.9 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (07,15

Tonan L z4e+u4 [ 25
e pO 4251+ 0.0
p1 -36.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

[

TVC(c,b,ch)=(0,8,0)
T r

v397/25
4214+ 0.0
-36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (O 8

p0
pl

):161':)/25
4217+0.0
-34.9+ 0.0

TP delay [ns]

TVC(cbch) (O 8,8

1 nuiz5yve+u4 | 25
4238+ 0.0
-36.38 + 0.00

0

TP delay [ns]

TVC(cbch) (0,812

pO
p1

~ i 344e+04 / 25
4255+ 0.0
-37.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,1)

A

=, po

p1

Y139 /25
4199+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b ch) (0,8,5

PSRALEY

ube+u4 / 25
4211+ 0.0
-34.33+ 0.00

[ C =29.13 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b ch) (0 8,9

<1 nub.pube+u4 / 25
4253+ 0.0
-35.86 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

T inai zgse+ud [ 25
4265+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,8,2)

nu

- DO

o Yo7 / 25
4212+ 0.0
pl -35.64 + 0.00

TP delay

TVC(cbch) (0,86

[ns]

T rnuiLz4/e+04 [ 25
4234+ 0.0
pl -35.61+ 0.00

- pO
[ C =28.08 [ps/ch
S(I) 10‘0
TP delay

TVC(cbch) (0, 8 10

pO
p1

[ns]

© 1z, (uze+u4 | 25
4281+ 0.0
-36.99 + 0.00

1
100

TP delay

TVC(cbch) (0,814

F- o

pl

[ns]

T rnuiLgnze+u4 [ 25
4263+ 0.0
-37.4+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

o=, O

p1

AT rnuiLuse+ud [ 25
4230+ 0.0
-36.08 + 0.00

TVC(c,b ch) (0 8,7

e, po
pl

1
100

TP delay [ns]

-1 nui 1b0e+04 / 25
4239+ 0.0
-35.46 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 8

e, pO

T rnug ‘Jbée+l}4/25
4274+ 0.0
-36.71+ 0.00

pl

TP delay [ns]

TVC(C, bch) (0,815

T inaiasze+ud [ 25
4256+ 0.0
-36.41+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

A7 1nui 1zoe+u4 /25
4183+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,9,4

- i 113e+04 / 25
pO 4182+ 0.0
pl -35.38:+ 0.00

- C -1
% i
TP delay [ns]
TVC(cbch) (O 9,8

©1nuizuoze+u4 | 25
po 4215+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

TrnaiLzrze+04 /25
pO 4221+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

AT 1 nunLuve+ud [ 25
po 4179+ 0.0
pl -34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

~ 1 nun Zg/e+u4 / 25
pO 4199+ 0.0
pL -35.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

T nu g3be+u4 25
po 4212+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

TinaiLu4/e+ud [ 25
pO 4198+ 0.0
pl -34.39+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

AT 1nui1sse+u4 /25
- po 4199+ 0.0
[ p1 -36.16 + 0.00

TP delay [ns]

TVC(cbch) (0,9,6

“rnuiLzble+u4 [ 25
- pO 4199+ 0.0
3 pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

1 nuiz.494e+04 | 25
= po 4248+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T rnuiLyrse+u4 | 25
- pD 4209+ 0.0
L pl -34.13+ 0.00

- C = 29.30 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT i 1sze+ud [ 25
po 4201+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- 1nui4/0e+04 / 25
pO 4216+ 0.0
pL -36.61+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T bb::e+u4/25
p0 4246+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T 1nai1uae+u4 / 25
po 4224+ 0.0
p1 -34.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 10, 0)

[ C =29.31[ps/ch]

T LAl You6 / 25
™, po 4209+ 0.0
pl -34.12+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,10, 4)

-1 119e+u4 / 25
- pO 4225+ 0.0
Pl -36.47:0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T 1L 345e+04 / 25
- PD 4214+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (0.10,12)

TinuiLssie+ud / 25
- PO 4259+ 0.0
pl -36.55 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,10,1)

[ C =29.18 [ps/ch]

AT 1 nuiLuUbe+u4 / 25
- PO 4205+ 0.0
pl -34.27 + 0.00

_L 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

“nuiz/1e+u4 / 25
- pO 4233+ 0.0
pL -37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

<1 nuis.obbe+ud / 25
- DO 4232+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T zose+u4 [ 25
= pO 4253+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000

2000

TVC(c,b,ch)=( 0, 10, 2)

T
- PO

TP delay [ns]

TVC(cbch) (0.10,6

1000

- nuiL zyse+u4 [ 25
- pO 4235+ 0.0
H PL_ -36.63% 0.00

AT 1nw 9246/ 25
4214+ 0.0
pl -34.67 + 0.00

TP delay [ns]

TVC(eb,ch)=(0, 10, 10)

1000

0

Tnuzi1e+u4 /25
- DO 4253+ 0.0
3 Pl -36.54+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14)

1000

T s1ve+u4 / 25
4261+ 0.0
-36.81+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,10,3)

S yeys [ 25
= pO 4229+ 0.0
pl -34.8+ 0.0

TP delay [ns]

TVC(c, bch) (0,10,7

- b33e+04 / 25
F= PO 4258+ 0.0
Pl -37.14% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

~ o 1 3ye+ud [ 25
= p0 4248+ 0.0
Pl -35.04 0.00

TP delay [ns]

TVC(cbch) (0,10,15

Ty z8e+u4 | 25
4257+ 0.0
-37.1+ 0.0

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A7 1 nui usbe+ud / 25
P po 4157+ 0.0
p1 -34.56 + 0.00

TP delay [ns]

TVC(cbch) (0,11,4

u v8/8/25
= po 4165+ 0.0
pl -34.02 + 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T L34 /e+04 [ 25
= po 4188+ 0.0
pl -34.66 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

X~ 1 use+u4 [ 25
- po 4212+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

— AT 1 nuanLiuse+ud [ 25
— po 4160+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(cbch) (0,11,5

-1 nui 1bYe+u4 / 25
e, pO 4190+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 11, 9

T 1 nuw zbbe+ud / 25
= po 4210+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T inai zoze+ud | 25
== pO 4206+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(CbCh) (o, 11 2)

TrnuiLzize+u4 [ 25
— pO 4174+ 0.0
L pl -35.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,11,6

- rnuiLzu1e+u4 / 25
- pO 4212+ 0.0
[ pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1 nuiLBa3e+04 [ 25
= po 4198+ 0.0
L p1 -34.24 % 0.00

- C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,11, 14

1000

X~ 1 zyoe+u4 [ 25
pee. po 4218+ 0.0
L p1 -36.01% 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (o, 11 3)

S T9vi13/25
F pO 4183+ 0.0
pL -34.93 0.00

TP delay [ns]

TVC(cbch) (0,11,7

~nui14/e+04 / 25
- pO 4196+ 0.0
p1 -34.15+ 0.00

[ C =29.28 [ps/ch]

50 1(;0
TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- T nuiaz3e+u4 [ 25
4214+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(c, bch) (0,11,15

T nui zuoe+ud / 25
= pO 4211+ 0.0
p1 -34.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 12, 0)

T LAl 8397125
[ po 4207+ 0.0
pl -35.26+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 12, 4

,12,4)
T X1 Y152 /25
- po 4216+ 0.0
Pl -37.68+ 0.00

50 100
TP delay [ns]

TVC(cbch) (0, 12 8

1 nuiL y1se+ud / 25

= pO 4204+ 0.0
Pl -3663: 000

TP delay [ns]

TVC(cbch) (0,12,12

1 nui syge+ud | 25

= po 4220+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,12,1)

X~ 1 nunulierud ] 25
- po 4216+ 0.0
pl -37.51+ 0.00

TP delay [ns]

TVC(cbch) (0,125

1 nui z1ye+u4 | 25

- DU 4208+ 0.0
Pl -37.15% 0.00

TP delay [ns]

TVC(c,b ch) (0,12,9

-1 nuw.ubze+ud / 25

2]

4224+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(cbch) (012,13

1L 4z3e+u4 [ 25

= po 4222400
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,12,2)

X~ 1w 143e+04 /25
- po 4213 0.0
3 Pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

- rnunL1z8e+04 [ 25
- pO 4213+ 0.0
F pl -36.87+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T nuzgr4e+04 [ 25
- DO 4238+ 0.0
I pl -36.34 + 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

T asze+04 [ 25
- pD 4229+ 0.0
I -35.71 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,12,3)

PO 4237+ 0.0
pl -36.8 + 0.0

AT 1 nuiLuv4e+u4 [ 25

TP delay [ns]

TVC(c, bch) (0,12,7

- PO 4240+ 0.0
Pl -37.13 000

- i zg/e+u4 / 25

50 100
TP delay [ns]

TVC(cbch) (0,12, 11

= p0 4249+ 00
Pl 36,59+ 0.00

1 nuiL yoze+u4 | 25

TP delay [ns]

TVC(cbch) (0,12,15

= po 4229+ 0.0
pl -36.19 + 0.00

a4 0e+u4 [ 25

TP delay [ns]



TVC(cbch) (0,13,0)

4000

3000

2000

1000

~inuiLoble+ud / 25
PO 4215+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (0,134

4000

3000

2000

1000

“ i r15e+04 / 25
- pO 4235+ 0.0
Pl -36.99 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 13 8

4000

3000

2000

1000

T zure+u4 / 25
™ pO 4261+ 0.0
pl -34.41+ 0.00

[ C =29.06 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (0,13,12

4000

3000

2000

1000

T oe+ud [ 25
PO 4250+ 0.0
pl -34.43+ 0.00

[ C =29.05 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,1)

A7 1 nuiLbsze+u4 25
- po 4214 0.0
Pl -36.83% 0.00

TP delay [ns]

TVC(c, bch) (0,135

“nun1.49e+04 [ 25
. DU 4238+ 0.0
pl_ -37.03: 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 13

Ty ybse+u4 [ 25
™. pO 4284+ 0.0
pL -34.45 % 0.00

[ C =29.03 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (013,13

- 1uy.4ale+ud [ 25
- pO 42512 0.0
pl -35.73 + 0.00

TP delay [ns]

TVC(cbch) (0,13,2)

4000

2000

1000

X~ 1w o8e+U4 [ 25
- po 4220 0.0
F pl -35.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.13,6

4000

3000

2000

1000

-1 nuiLgb3e+ud / 25
- pO 4260+ 0.0
3 pl -37.21% 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

4000

3000

2000

1000

©nug.syse+u4 / 25
DO 4303+ 0.0
pl -34.7+ 0.0

- C = 28.82 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (0.13,14

4000

3000
2000

1000

- iz oo /e+04 ] 25
= PD 4250+ 0.0
I pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,3)

AT 1 nuiLb4/e+U4 [ 25
- PO 4239% 0.0
p1 -37.15+ 0.00

TP delay [ns]

TVC(c, bch) (0,137

-1 yy3e+u4 / 25
- PO 4252+ 0.0
Pl -36.56+ 0.00

TP delay [ns]

TVC(cbch) (o, 13 1

~ g byZe+u4 [ 25
™ p0 4302 0.0
pl -35.64 .+ 0.00

TP delay [ns]

TVC(cbch) (0,13,15

T g bzze+V4 [ 25
- pO 4268+ 0.0
pl -36.52 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

e, pO

T izve+u4 [ 25
4182+ 0.0
-36.4+ 0.0

pl

1
50 100

TP delay

TVC(cbch) (0,144

[ns]

-1 z05e+04 / 25
4202+ 0.0
-34.62 + 0.00

- pO

pl
[ C =28.88 [ps/ch] ]

o+ o
TP delay [ns]

TVC(cbch) (o, 14 8)

- rnuzglye+ud / 25
= pD 4202+ 0.0

pl —35.33:;‘

TP delay

TVC(cbch) (0,14, 12

B pO

[ns]

T s41e+04 /25
4223+ 0.0
pl -35.94 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

e, po

AT 1 nunLusoe+ud [ 25
4195+ 0.0
-35.72+ 0.00

p1

TP delay [ns]

TVC(c, bch) (0,14,5

=1 nui 29pe+u4 / 25
4206+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

==, po

-1 nuig19ve+ud 25
4219+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (0.14,13)

e

- po
p1

Yyo8 /25
4226+ 0.0
-36.32+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

A7 1 nuiisye+ud / 25
4201+ 0.0
pl -35.83+ 0.00

TP delay

TVC(cbch) (0.14,6

pO
p1

[ns]

- rnuiLzlbe+ud / 25
4205+ 0.0
-34.01+ 0.00

F C = 29.40 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

= 90

[ns]

1z zu4e+04 [ 25
4232+ 0.0
pl -35.97 + 0.00

TP delay

TVC(cbch) (0. 14,14

- PD

[ns]

T ss4e+04 / 25
4239+ 0.0
pl -37.08 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

A~ 1 nuiLus4e+u4 [ 25
4198+ 0.0
pl -35.19+ 0.00

TP delay

TVC(c, bch) (0,14,7

E. pO

[ns]

-1 nui 31be+u4 / 25
4206+ 0.0
pl -34.53 % 0.00

TP delay

TVC(eh,ch)=(0, 14, 11

B pO

[ns]

T nui og3e+u4 / 25
4231+ 0.0
pl -36.05+ 0.00

TP delay

TVC(cbch) (0,14,15

e, po

[ns]

T nai szoe+ud [ 25
4245+ 0.0
p1 -37.28 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 15,0)

T AT Y1U6 /25
= po 4194+ 0.0
pl -33.63+ 0.00

[ C=29.73 [ps/ch]

| 1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 15, 4

b, ,15,4)
: x-rnu o y18/25
== pO 4209+ 0.0
pl -35.96 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

i r32e+04 | 25

= po 4218+ 0.0
pl -35.28+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

Tl nre+u4 /25
= po 4229+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

TP delay [ns]

TVC(cbch) (0,155

X rnar reud [ 25
== po 4193+ 0.0
p1 -33.1% 0.0
[ C =30.22 [ps/ch] ™. 7]
L 1 -
50 100

“ i 1/ze+04 [ 25
e, pO 4211+ 0.0
pL -36.27+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

~ 1 nu guse+u4 / 25
- po 4256+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

T inai z4ve+ud [ 25
= pO 4220+ 0.0
pl -34.69 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (0,15,2)

A™ 1 nuLulse+ud /25
__ po 4216+ 0.0
o pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.15,6

-1 nuiL104e+04 / 25
- pO 4217+ 0.0
[ pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

1000

T rnuzzz1e+04 /25
-, po 4275+ 0.0
- pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

T ase+ud /25
F-. pD 4218+ 0.0
L pl -34.38+ 0.00

- C = 29.08 [ps/ch]
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0, 15 3)

S wys6/25
B pO 4211+ 0.0
pL -34.87  0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui 415e+04 / 25
- pO 4233+ 0.0
p1 -36.54 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

~ 1 nui v30e+u4 / 25
4252+ 0.0
-34.4+ 0.0

[ C=29.07 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

T nui 1ove+ud / 25
= pO 4227+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

A7 1 nui zuoe+u4 / 25
P, po 4182+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (1,0,4

Tnun 1 1ze+04 /25
e pO 4164+ 0.0
p1 -35.94+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

1 nuiL4ope+U4 / 25
= po 4188+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T suze+u4 / 25
= po 4200+ 0.0
pl -34.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

A7 1 nunLiyoe+ud [ 25
- po 4185+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

“nui1/ze+04 [ 25
pO 4173+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

~ 1 nuigB4ye+u4 25
po 4209+ 0.0
p1 -34,55 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

TinuiLasie+ud [ 25
4199+ 0.0
-35.91+ 0.00
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50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

K™ 1nuiisie+u4 /25
P po 4179+ 0.0
L pl -35.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- rnuiLz1ve+u4 [ 25
4183+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

T //e+u4 /25
= po 4227+ 0.0
- pl -34.73 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T 1nuiLb34e+04 [ 25
= pD 4213+ 0.0
L p1 -37.23+ 0.00

3000

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3)

T 1sse+ud [ 25
- pO 4202+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1 0,7

-1 nun 339e+u4 / 25
e, pO 4194+ 0.0
pL -36.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T db‘Je+U4/25
= po 4235+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

T inuiLqu/e+ud [ 25
= pO 4206+ 0.0
p1 -36.37+ 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

A7 1 nuiLguze+ud [ 25
4174+ 0.0
-36.01+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- i T39e+04 / 25
= pO 4174+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

1L 4z4e+04 [ 25
- pO 4194+ 0.0
pl -34.53 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T i 1use+u4 / 25
- po 4210+ 0.0
pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT rmuLurse+u4 [ 25
., po 4195+ 0.0
pl -35.54+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui Zo3e+u4 [ 25
pO 4192+ 0.0
pL -36.01% 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

[ C =29.22 [ps/ch]

< v.ane+ud 1 25
po 4218+ 0.0
pL -34.22 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T inai zose+ud / 25
pO 4203+ 0.0
pl -36.68 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A™ 1 nuiLusie+u4 /25
- po 4194+ 0.0
L pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

T rnun 1 38e+u4 [ 25
- pO 4201 0.0
[ pl -35.89+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- C = 29.11 [ps/ch]

T roe+ud /25
-, po 4226+ 0.0
- pl -34.35+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T gore+ud [ 25
= pD 4213+ 0.0
L p1 -36.74 + 0.00

3000
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TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

T/ Luoe+ud / 25
P, pO 4201+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- 1nui 4z3e+04 / 25
- pO 4201% 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nui s33e+U4 / 25
- po 4228+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nui 1ose+ud / 25
= pO 4203+ 0.0
p1 -35.18+ 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A7 nui 1use+ud / 25
. po 4194+ 0.0
p1 -36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,24

s rna Yob4 / 25
.. po 4212+ 0.0
pl -35.79+ 0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

T L/ rge+u4 | 25
= po 4197+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T rnuiLyrse+u4 / 25
= po 4239+ 0.0
pl -36.61+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1 nuLUbse+ud /25
., po 4195+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nun Zzye+u4 [ 25
pO 4231% 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nuig.yzye+ud / 25
po 4219+ 0.0
pl -35.02 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

T inai zyze+ud [ 25
pO 4237+ 0.0
pl -37.14+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

AT 1nuiLuyre+ud /25
=, po 4208+ 0.0
o pl -356+ 0.0

3000

TP delay [ns]

TVC(cbch) (1,26

- rnuiL143e+04 / 25
- pO 4239+ 0.0
[ pl -35.82+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T nuiLbu/e+u4 [ 25
= po 4228+ 0.0
- pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T L 3se+ud /25
- pD 4238+ 0.0
L pl -36.1+ 0.0

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1 nuiL140e+U4 /25
- po 4202+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

- nui1/4e+04 / 25
- pO 4236+ 0.0
pL -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T 4b::e+u4/25
= pO 4250+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

Tonaiigle+ud /25
4234+ 0.0
-36.11 + 0.00
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50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

A7 1 nui suoe+ud / 25
4205+ 0.0
-37.09 + 0.00

TP delay [ns]

TVC(cbch) (1,34

- i zy3e+ud [ 25

e pO 4200+ 0.0
pl -37.06+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T 1ge+ud /25
- po 4229+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (1,3 12

b, po
p1

T i 1ooe+u4 / 25
4195+ 0.0
-33.33+ 0.00

[ C =30.01 [ps/ch]

50

1
100

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

- po

AT rnuiL1iie+ud /25
4206+ 0.0
-35.73+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui 3v4e+04 / 25
E pO 4230+ 0.0
pL -38.31% 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (1 3,9

1 nuig 3yoe+ud / 25
- pO 4247+ 0.0
pl -35.83 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

T nai z4oe+ud | 25
4196+ 0.0
-33.45+ 0.00

[ C =29.90 [ps/ch]

50

il
100

TP delay [ns]
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3000

2000

1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

T Laoe+ud /25
_- pO 4209+ 0.0
o pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,36

11 558e+04 [ 25

3 pO 4231 0.0
[ pl -38.15+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1 nuiL484e+04 [ 25
. po 4269+ 0.0
L pl -35.77 + 0.00

TP delay [ns]

4

2501/25
4190+ 0.0
-33.33+ 0.00

TVC(ebeh=(1,3, 1
E 0

[ =

- C = 30.01 [ps/ch]

50

P
100

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, po

pl

AT rnuiL3roe+ud [ 25
4224+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (1 3,7

-1 nui B4ve+u4 / 25
- pO 4236+ 0.0
pL -37.78 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

RIS zu4e+u4/25
- po 4253+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

== pO

Tinuizole+ud [ 25
4200+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

50

1
100

TP delay [ns]
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

AT onun ) ze+ud /25
F o po 4220+ 0.0
pl -38.25+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

s rna Y631 /25
== po 4202+ 0.0
pl -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

Tz lr4e+04 /25
- pO 4241% 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,412

© i syse+u4 / 25
= po 4208+ 0.0
pl -34.85+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1L soze+ud [ 25
F po 4224+ 0.0
pl -38.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= nuiL Zose+ud | 25
== po 4216+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

T inugyrze+ud [ 25
- po 4268+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T inui ss1e+ud [ 25
— pO 4216+ 0.0
pl -35.77 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,4,2)

A7 1 nui 3o0e+u4 /25
F po 4227+ 0.0
- pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (1,4,6

“rnuiL3b1e+u4 / 25
- pO 4221 0.0
[ pl -36.42+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

1 nuiLyyge+u4 | 25
- DO 4288+ 0.0
- pl -37.3+ 0.0

TP delay [ns]

TVC(cbch) (1,4,14

~ 1 nuiLgoye+u4 [ 25
4220+ 0.0
-35.7+ 0.0
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TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

pl

AT 1L ssoe+ud [ 25
4228+ 0.0
-37.59+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

RRATTIEY

Fo=. pO
pl

44e+04 | 25
4227+ 0.0
-35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1,4,

X~ L

= po

1)
b3e+ud / 25
4276+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

A fnan g

e po
p1

b3e+ud | 25
4211+ 0.0
-36.07 + 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A” 1L zove+ud [ 25 “rnan g gve+ud [ 25 AT 1w Sole+ud [ 25 A~ 1 asse+ud | 25
4000 P, po 4191+ 0.0 4000 P po 4195+ 0.0 4000 _= po 4200+ 0.0 4000 e po 4209+ 0.0
pl -35.56 + 0.00 pl -35.38 + 0.00 r pl -35.6+ 0.0 pl -35.05+ 0.00

3000

- 3000 -1 3000 =1 3000 -

2000 E 2000 - 2000 - 2000 F

1000 - 1000 4 1000:— 100 C = 28.53 [pS/Ch ]
L 1 1 1 - _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15, TVC(cbch) (1,56 TVC(c, bch) (15,

LIS A)Useﬂjd 125 “nar z)bSE+U4/25 “ g 2U4e+U4 125 T nar 21d2+04/25
4000 pO 4223+ 0.0 4000 pO 42241 0.0 4000 e, pO 4241 0.0 4000 s pO 42421 0.0
Pl 3591 0.00 Pl -36.02% 0.00 H PL_ 36,69+ 0.00 Pl 3551 0.00
3000 [ E 3000 E 3000~ ] 3000 - E
2000~ E 2000 E 2000~ ] 2000 [ B
woof- ] 1000 ] 1oor- C = 27.26 [ps/ch ] wo C = 28.16 [ps/ch ]
I L5 oL I | = I =
50 00 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
© 1 nuz.4p0e+04 / 25 T2z re+u4 [ 25 T nuz.y41e+u4 / 25 ~ 1u bobe+u4 / 25
4000 e, pO 4234+ 0.0 4000 [, pO 4259+ 0.0 4000 [, DO 4273£ 00 4000 fam, p0 4280+ 0.0
Pl -36.32% 0.00 Pl -36.17+ 0.00 [ PL_ -36.92+ 0.00 Pl -36.85% 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 e 2000 - 2000 — 2000

1000 E 1000 - 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T i, ru4e+u4 [ 25 -1 nuiyuze+ud / 25 T zoze+u4 | 25 T nai soze+u4 [ 25
4000 f pO 4251+ 0.0 4000 e, pO 4247400 4000 f, PD 4246+ 0.0 4000 fi, pO 4256 0.0
-35.9+ 0.0 pl -35.76 + 0.00 F pl -35.54 + 0.00 pl -35.57 + 0.00

3000

T 3000 1 3000 -1 3000 -1

2000 -1 2000 1 2000 - 2000

1000 1 1000

N 1000 1 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

' po

AT inuizsie+u4 /25
4192+ 0.0
pl -37.04 + 0.00

TP delay

TVC(cbch) (16,4

[ns]

- 1L za8e+04 / 25
4220+ 0.0
-36.68 + 0.00

pD

e, PO
p1
FC ]
I L =
50 100
TP delay [ns]
TVC(eb.ch)=(1,6,8)
1z, zgve+u4 | 25
==, 4221+ 0.0
pl -34.72+ 0.00

TP delay

TVC(cbch) (1,6,12

[ns]

T rnuiLg31e+u4 / 25
4231+ 0.0
-37.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AT 1 nunLzose+ud [ 25
4196+ 0.0
-36.56 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

pO
pl

-1 nui 1z20e+04 / 25
4217+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (1,6,9

PSR

== po
pl

1re+u4 /25
4241% 0.0
-35.18 + 0.00

TP delay [ns]

TVC(C, bch) (1,6, 13

X rnan g

e, po
p1

41e+U4 25
4227+ 0.0
-36.37+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,6,2)

1000

™, po

A7 1nun zsse+u4 [ 25
4204+ 0.0
-37.36+ 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

- pO

p1

-1 nuiL334e+04 / 25
4220+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

1000

- o

Tz 1oe+u4 [ 25
4256+ 0.0
-34.94 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

1000

pD
pl

T rnuiLgule+u4 / 25
4221+ 0.0
-36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

pl

AT 1L szze+ud [ 25
4212+ 0.0
-35.82+ 0.00

TVC(c,b ch) (1 6,7

C po
pl

1
100

TP delay [ns]

-1 nur 33be+04 / 25
4220+ 0.0
-35.03+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO
pl

T b‘Jbe+U4/25

4246 £ 0.0
-34.64 + 0.00

[ C =28.87 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,6,15

Tinuisr1e+u4 /25
4213+ 0.0
-36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0

K™ 1 nui love+ud / 25
. po 4184+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (17,4

-1 nuiLub4e+04 / 25
4195+ 0.0
-36.7+ 0.0

50 10‘0
TP delay [ns]

TVC(ebioh)=(1,7,8

©1nuizuoze+u4 | 25
= po 4218+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T 13ve+u4 / 25
= po 4226+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,71

AT 1 nuiLUb/e+u4 [ 25
Fee,, po 4202+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

= rnui Tg1e+ud / 25
== po 4194+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

T nug gzoe+ud [ 25
= po 4220+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,13

T nuiL 1s0e+ud / 25
4228+ 0.0
-36.31+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

K™ 1nuilple+u4 /25
P, po 4195+ 0.0
L pl -35.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

©rnunL41ze+04 [ 25
- pO 4238+ 0.0
[ pl -36.91+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

© 1 nuiz. 1ibe+ud | 25
o=, po 4228+ 0.0
o pl -35.82 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T rnuiLyuroe+u4 /25
- pD 4223+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

AT rnuiLl/se+ud [ 25
e, po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

= 1nuiLay/e+ud [ 25
= po 4220+ 0.0
pl -37.17 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
-1 nui bgae+u4 / 25
= po 4238+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

Tonuiisie+ud /25
= pO 4231+ 0.0
p1 -35.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

A7 1nun ssze+04 /25
P po 4174+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (1,84

s rna Y586 / 25
== po 4212+ 0.0
pl -37.69 0.00

50 100
TP delay [ns]

TVC(cbch) (1 8,8

TrnuiLyr1e+u4 /25
- pO 4204+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T 1sze+u4 / 25
= po 4239+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81)

T 1sve+ud [ 25
e pO 4201+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 Ui UBbe+u4 / 25
e, pO 4204+ 0.0
pL -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

T inai1/4e+04 /25
= pO 4231+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

Tinai i/ /e+ud /25
- pO 4221+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

AT 1nui3rve+u4 /25
- po 4204+ 0.0
L pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

-1 11be+u4 / 25
- pO 4207+ 0.0
3 pl -36.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T z1e+u4 /25
= po 4242+ 0.0
L pl -36+ 0.0

3000

TP delay [ns]

TVC(cbch) (1,8 14

TrnuiLzrze+04 [ 25
- pD 4238+ 0.0
[ p1 -36.99 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3

x- 1 L dzae+Ud | 25
Po=. po 4208+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

- nun Zzve+u4 [ 25
- pO 4209+ 0.0
pL -37.06+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T 45ue+u4/25
= po 4235+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nai z4ze+u4 [ 25
= pO 4238+ 0.0
p1 -35.8+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0

K™ 1 nui 1yoe+u4 / 25
.. po 4195+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (1,94

- i 11ze+04 /25
P, pO 4210+ 0.0
pl -36.22+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

[ C =29.52 [ps/ch]

T L4 e+u4 [ 25
= pO 4181+ 0.0
pl -33.88+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,9,12

T zzze+04 [ 25
= po 4207+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

S 9wuB /25
= pO 4205+ 0.0
pl -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

“nuiZ/3e+04 [ 25
- pO 4223+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T nu sz2ze+04 25
= po 4213+ 0.0
p1 -34,59 £ 0.00

TP delay [ns]

TVC(C, bch) (1,9,13

T inai zyze+ud [ 25
= pO 4196+ 0.0
p1 3411+ 0.00

[ C =29.32 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,9,2)

K™ 1 nuiLuose+ud /25
_- po 4201+ 0.0
o pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

-1 nui349e+04 [ 25
- pO 4230+ 0.0
[ pl -36.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 9 10

© 1 nuz 3goe+u4 | 25
= po 4230+ 0.0
- pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (1,914

~ 1L zove+ud | 25
- pD 4201+ 0.0
L p1 -35.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

AT rnun 1 3e+u4 /25
- po 4233+ 0.0
pl -37.9+ 0.0

TP delay [ns]

TVC(c,b ch) (1 9,7

-1 nui z4ye+u4 [ 25
- pO 4235 0.0
-36:+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 9

T buze+u4/25
= 4223+ 0.0
-34.09 + 0.00

[ C=29.34 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (1,9,15

T nui 1vae+ud [ 25
- 4210+ 0.0
-34.22+ 0.00

[ C =29.23 [ps/ch] 7

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,10,0)

X rnu ywud /25
E po  4197+00
pl  -358%0.0

TP delay [ns]

TVC(cbch) (1,104

- rnunLuy3e+ud / 25
- pO 4185+ 0.0
p1 -34.38+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 8

1 nuz5Eoe+u4 | 25
= po 4230+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (1,10,12

[ C =29.50 [ps/ch]

T 1zde+04 / 25
= po 4224+ 0.0
-33.9+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

x- 1 L uBae+U4 | 25
o=, po 4214+ 0.0
pL -35.8+ 0.0

TP delay [ns]

TVC(c, bch) (1,105

= 11U Ub4e+u4 / 25
e pO 4186+ 0.0
pL -35.06 + 0.00

TP delay [ns]

TVCebeh)=( 1, 10,9

~ 1 nug.u4ve+ud [ 25
= po 4235+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(cbch) (110,13

T nuiLusbe+ud / 25
F 4228+ 0.0
-32.89+ 0.00

[ C =30.40 [ps/ch] ™ 7
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

AT 1 nuiLuzze+u4 /25
=, po 4202+ 0.0
o pl -34.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

-1 nuiL149e+04 / 25
- pO 4205+ 0.0
[ pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

©1nuiLgu3e+u4 / 25
= po 4252+ 0.0
- pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T grze+04 [ 25
. pD 4229+ 0.0
L pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT 1 nuiLudse+u4 [ 25
=, po 4199+ 0.0
p1 -34.58 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

-1 nui zyze+u4 [ 25
4217+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(eheh)=(1, 10, 11

T nuiprze+u4 [ 25
= po 4278+ 0.0
pl -38.19+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nai1yse+ud / 25
F=. 4213+ 0.0
-33.65+ 0.00

[ C=29.72 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

AT nui zs1e+04 /25
o= po 4200+ 0.0
pl -37.04 + 0.00

TP delay [ns]

TVC(cbch) (1,114

- rnunLpu3e+ud / 25
- pO 4206+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(L, 11,8

1 nuip, 3oge+u4 | 25
= po 4227+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

A7 1 nuibuYe+u4 / 25
= PO 4241+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1L suse+ud [ 25
Fe po 4211+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(cbch) (1,11,5

-1 nuin 4z8e+04 [ 25
- pO 4202+ 0.0
pL -35.97+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

T inuy s1ie+ud [ 25
e pO 4254+ 0.0
p1 -37.49.+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inuiLg10e+ud /25
pO 4239+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,11, 2)

K™ 1 nuiL4p4e+04 / 25
__- po 4225+ 0.0
- pl -37.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

-1 nuiL459e+04 [ 25
- pO 4221 0.0
[ pl -36.05 + 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X7 1nuig, rzoe+04 [ 25
- po 4271+ 0.0
- pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X1 g51e+04 /25
- po 4235+ 0.0
[ p1 -37.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT rnuiLsiie+ud /25
- po 4228+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

“nun 1 5be+04 [ 25
- pO 4231% 0.0
pL -35.92:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

~ 1 nuiz.zyve+u4 [ 25
- po 4275+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (111,15

T naisrye+ud [ 25
e po 4245+ 0.0
p1 -37.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

©rnuiLuuse+u4 / 25
P pO 4155+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(cbch) (1,124

=1L uBze+ud / 25
- pO 4172 0.0
p1 -35.14+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

Tz 3y1e+u4 | 25
- po 4198+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (1,12,12

TrnuiLzyre+u4 [ 25
pO 4194+ 0.0
pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 nunL1ube+ud [ 25
peoe.. po 4165+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (1,125

-1 nui z34e+04 [ 25
- pO 4185+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

1 nu g80e+u4 / 25
= po 4203+ 0.0
p1 -34.29+ 0.00

[ C =29.16 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (112,13

- T nui 345e+u4 / 25
= pO 4192+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000 =,
3000
2000

1000

TVC(CbCh) (1, 12 2)

T Lrse+ud [ 25
- pO 4174+ 0.0
L pl -34.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (1126

S i 118e+u4 [ 25
e pO 4184 0.0
[ pl -35.26+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

1000

T nuzysge+ud | 25
= po 4224+ 0.0
- pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (112,14

T 343e+04 / 25
pD 4208+ 0.0
pl -36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rnuiL1ule+ud [ 25
- po 4181+ 0.0
pl -34.44+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

S nun1.35e+04 [ 25
- pO 4199+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 11

Tonairy/e+u4 [ 25
= po 4217+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- Tnaizsze+ud [ 25
pO 4196+ 0.0
-35.12+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,0)

K™ 1y zz3e+04 [ 25
Fomee, PO 4205+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,134

- 1 i b8be+u4 / 25
Fraese. pO 4212+ 0.0
pl -35.18 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

T L/ r3e+U4 [ 25
- PD 4197+ 0.0
-34.23+ 0.00

[ C =29.22 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,13,12

T nuiLasze+04 [ 25
- pO 4252+ 0.0
pl -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

e, po

AT 1 num, 11ve+ud [ 25
4205+ 0.0
pl -36.87 + 0.00

TP delay

TVC(c, bch) (1,135

TR

== pO

[ns]

. be+u4 / 25
4226+ 0.0
pl -35.56 + 0.00

TP delay

TVC(c,b ch) (1,13,9

pO
p1

[ns]

~ 1 nug pbae+ud / 25
4255+ 0.0
-34.72+ 0.00

[ C =28.80 [ps/ch]

1
50 100

TP delay

TVC(cbch) (113,13

[ns]

T inai szge+ud / 25
4254+ 0.0
-36.81+ 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,13,2)

X~ 1, rz4e+04 [ 25
Fom, po 4205+ 0.0
I pl -36.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,136

T rnuiL r1ze+04 [ 25
- pO 4234+ 0.0
3 pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

~ 1 nuz yoge+ud / 25
F DO 4266+ 0.0
- PL_ -36.31% 0.00

TP delay [ns]

TVC(cbch) (113,14

T suze+ud [ 25
- PD 4236+ 0.0
I pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,3)

A7 1 hub.Usse+U4 / 25
e, po 4228+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c, bch) (1,137

- nui groe+u4 / 25
F= PO 4240+ 0.0
pl -36.31+ 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(1, 13, 11

-1 yode+u4 [ 25
= p0 4260+ 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

Tonar 1 3e+ud /25
4256+ 0.0
-37.01+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

1
0 50 100

TVC(c,b,ch)=( 1, 14,0)

T AT wsy2 /25
- po 4202+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (1,144

- rnuiL141e+04 / 25

e pO 4179+ 0.0
pl -35.88:+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

1 nuz 338e+04 / 25

e, po 4175+ 0.0
pl -33.22+ 0.00

[C=230.10 [ps/ch] ™. ]

TP delay [ns]

TVC(cbch) (1,14,12

TrnuiLzsre+u4 | 25
= po 4261+ 0.0
pl -36.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 14 1)

1 nuiLu4pe+ud / 25

P, pO 4195+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(c, bch) (1,14,5

- 1o 134e+04 / 25
™, DU 4193+ 0.0
pl -37.18:+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

T nu.ap3e+u4 / 25
= pO 4201% 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (114,13

T inaizsye+ud [ 25
= pO 4254+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1, 14 2)

TP delay [ns]

TVC(cbch) (1,146

T rnuiLurse+ud | 25
- pO 4214+ 0.0
L pl -36.71+ 0.00

3000

— - rnui1o3e+04 / 25
- pO 4177+ 0.0
[ p1 -36.54+ 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

T L g1Ze+04 [ 25
o=, po 4225+ 0.0
o pl -34.83+ 0.00

TP delay [ns]

TVC(cbch) (1, 14,14)

1000

e 7016125
- pD 4262+ 0.0
L p1 -36.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT 1 nuiLuze+ud [ 25
- po 4231+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

-1 nui 3vee+u4 / 25
- pO 4201% 0.0
pL -36.21% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

~ 1 nui sbYe+ud / 25
= po 4215+ 0.0
-34.3+ 0.0

[ C=29.16 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

T nai suae+ud [ 25
= pO 4256+ 0.0
p1 -36.54 + 0.00

TP delay [ns]



TVC(CbCh) (1, 15 0)

4000 &

3000 -

2000~

1000 [~

T L 1se+u4 / 25
- pO 4206+ 0.0
p1 -37.9+ 0.0

TP delay [ns]

TVC(cbch) (1,154

3000 -

2000 [~

1000 [~

- i z54e+04 [ 25
4000 . po 4226+ 0.0
pl -36.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

3000

2000

1000

Tz 144e+04 | 25
4000 . pD 4226+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

4000 [

3000

2000

1000

T rnuiLs1ve+u4 / 25
pO 4234+ 0.0
pl -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

AT 1 nuLsroe+ud [ 25

P, po 4208+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (1,155

- pO

1 z31e+04 1 25

pl -36.19 + 0.00

4229+ 0.0

TP delay [ns]

TVC(c, bch) (1, 15 9

T nub.yb/e+ud [ 25
- po 4260+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (115,13

Tinaizyle+ud [ 25
= pO 4230+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

1000

K71 nuiquze+04 /25
_l' - po 4229+ 0.0
o pl -38.12+ 0.00

3000

- rnuiL411e+u4 / 25
- pO 4230+ 0.0
[ pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

Tz pzze+04 | 25
- DO 4273+ 0.0
- pl -37.1+ 0.0

TP delay [ns]

TVC(cbch) (115,14

T sz1e+04 /25
- pD 4238+ 0.0
L pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT nuiL$34e+U4 [ 25
4219+ 0.0
pl -36.77 + 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

-1 nui 458e+04 / 25
4232+ 0.0
pl -35.28 + 0.00

TP delay

TVC(eh.eh)=(1, 15, 11

- pO

[ns]

T nuiL ryge+u4 [ 25
4291+ 0.0
pl -36.31+ 0.00

TP delay

TVC(cbch) (1,15,15

e pO
p1

[ns]

Tnai srse+ud [ 25
4236+ 0.0
-35.2+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0

K™ 1 nui 1yye+ud / 25
- po 4206+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

= 1 nur 19ze+U5 / 25
e, pO 4193+ 0.0
p1 -34.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

T i 31ze+05 / 25
= po 4188+ 0.0
p1 -34.92 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,0,12

- 1z pove+Us / 25
= po 4207+ 0.0
pl -34.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,01

A7 1 nuiL Sbae+u4 [ 25
P o, po 4221+ 0.0
pl -37.38+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

~nuiLyr1e+u5/ 25
E pO 4195+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,9

~ 1 nug 350e+u4 / 25
4200+ 0.0
-35.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (2,0,13

T nu3s1oe+ud / 25
= pO 4223+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

AT 1nuis41e+04 /25
_l'_ po 4214+ 0.0
o pl -36.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (20,6

1000

-1z, 28oe+U5 / 25
- pO 4214 0.0
X 353+ 0.0

TP delay [ns]

TVC(cbch) (2, 0 10

~ 1 nuib.114e+04 / 25
e, po 4227+ 0.0
o pl -36.28+ 0.00

TP delay [ns]

TVC(cbch) (2,0,14

~ g zupe+u4 / 25
F-. pD 4220+ 0.0
L pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT rnuiLsbre+ud [ 25
Pe-. po 4208+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

S rnan 2346405 [ 25
- pO 4213+ 0.0
p1 -34.57+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O

T g, uu4e+u5/25
= po 4236+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

T nup.pb/e+u6 / 25
= pO 4207+ 0.0
-34.61+ 0.00

[ C =28.89 [ps/ch]

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

T zsoe+u5/ 25
pO 4220+ 0.0
p1 -40.15+ 0.00

(a
50 100

TP delay [ns]

TVC(cbch) (21,4

T4 r1e+u4 /25
pO 4179+ 0.0
p1 -35.28:+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

T g, zoge+u4 | 25
PD 4216+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(Cbch) (2, l 12

T g19e+U5 /25
po 4206+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

A7 1 nuis.bobe+Us / 25
p— po 4216+ 0.0
p1 -38.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 333e+04 /25
e, DU 4195+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVCebeh)=(2, 1,9

S 4.41e+05 /25
pO 4243+ 0.0
-37+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, l 13

T nuiz.z40e+ud | 25
pO 4228+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (2,1,2)

A~ 1 nuig 448e+04 | 25
po 4220% 0.0
p1 -37.82+ 0.00

TP delay [ns]

TVC(cbch) (2,1,6

- i blze+u4 [ 25
pO 4199+ 0.0
p1 -35.76 + 0.00

10‘0
TP delay [ns]

TVC(ebeh)=(2 1, 10

-1 iy yd1e+U4 | 25
pO 4243 0.0
358+ 0.0

1(3:0
TP delay [ns]

TVC(cbch) (21,14

1000

TrnuiLgse+u4 [ 25
pD 4222+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

- w4 r5e+U5 1 25
pO 4229+ 0.0
p1 -37.82:+ 0.00

TVC(c,b ch) (2 1,7

TP delay [ns]

-1 4ube+US / 25
pO 4199+ 0.0
p1 -35.69+ 0.00

TVC(c,b ch) (21,

100
TP delay [ns]

T, 4b4e+u5/25
pO 4248+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1 15

-z be+ud [ 25
pO 4204 0.0
p1 -35.86 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A7 nun s4ze+05/ 25
4177+ 0.0
-35.04 + 0.00

TVC(cbch) (2,24

[, pO
pl

1
50 100

TP delay [ns]

= 1 i yspe+U5 / 25
4198+ 0.0
-37.18 + 0.00

TP delay [ns]

TVC(cbch) (2,2,8

= pD

©1nuy,1z9e+04 / 25
4191+ 0.0
-35.17 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

~ i 1ooe+U5 / 25
4237+ 0.0
-37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

=, po

A” 1 1ug.yoye+ud [ 25
4188+ 0.0
-36.1+ 0.0

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

™ pO

pl

- nug.Bz3e+u4 / 25
4182+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (2,2,9

FSRALTES

po
p1

b4e+U5 / 25
4235+ 0.0
-35.37 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,213

1

v.4e+u4 /25
4222+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

™, po

A7 1nun11ze+U5 /25
4193+ 0.0
-36.6+ 0.0

pl

50 10‘0
TP delay [ns]
TVC(cbch) (2 2,6

pO
pl

-1 nuz 2p9e+u4 [ 25
4198+ 0.0
-36.95+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2, 10

X1 g,

- po
L p1

roze+U4 /25
4227+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(cbch) (2,214

Trnuig4r1e+05 /25
4228+ 0.0
-36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,2,

A1

= pO
pl

3)

nuiz, 112e+04 / 25
4206+ 0.0
-37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

-
pO
pl

nur p.z3e+U5 / 25
4200+ 0.0
-36.82+ 0.00

100

TP delay [ns]

TVC(eheh=(2,2,1

= o
pl

1y, /zse+u5/25
4221+ 0.0
-35.32+ 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (2,2,15)
T g zzoe+U5 / 25
= pO 42234 00
-35.67 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

rore+u4 /25
4206+ 0.0
-36.56 + 0.00

A1 g,

.. po

pl

TP delay [ns]

TVC(cbch) (2,34

134e+U5 / 25
4208+ 0.0
-36.49 + 0.00

= pO/ -
pl
- C =
o T
TP delay [ns]
TVC(c,b ch) (2, 3 8
= pD

T rnuiz.44/e+04 /25
4226+ 0.0
-36.98 + 0.00

TP delay [ns]

TVC(cbch) (2,312

T rnuiLz4pe+u4 [ 25
4229+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

A1 3aze+Ua ] 25
4214+ 0.0
-36.39+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 3,5

=1 nui buze+ud [ 25
4196+ 0.0
-35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

B po

pl

<1 nup.5Ube+U5 / 25
4256+ 0.0
-37.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

T nai zoge+ud / 25
4227+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

= PO

pl

X~ 1 g 515e+04 [ 25
4210+ 0.0
-36.12:+ 0.00

TP delay [ns]

TVC(cbch) (23,6

= P°

p1

- 1nuiy.491e+04 [ 25
4217+ 0.0
-35.78 + 0.00

TP delay [ns]

TVC(eb.oh)=(2, 3, 10

1000

- b

-1 zzse+04 [ 25
4269+ 0.0
-36.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (2,3 14

-1 nuigpuve+Us / 25
4226+ 0.0
-34.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

PSS

e po
pL

Lose+ud | 25
4207+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (2 3,7

- pO
p1

-1 U 330e+U5 / 25
4198+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T b':ue+l]5/25
4258+ 0.0
-35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

Tinuiz31e+U5/ 25
4228+ 0.0
-35.87 + 0.00

TP delay [ns]



TVE(ED.Ch)=(2,4,0) TVe(EDC)=(2, 4, 1) TVC(ED.Ch)=( 2,4, 2) TVEEDe)=(2,4,3)
K™ 1 (ze+U4 /25 A7 1 nuiL1obe+U5 / 25 X~ 1w zzoe+U5 [ 25 ~nun . gve+ud [ 25
4000 [, po 4204+ 0.0 4000 fo, pO 4190+ 0.0 4000 [, PO 4197+ 0.0 4000 fo, PO 4219+ 0.0
pl -34.88+ 0.00 pl -34.45+ 0.00 : pl -35.21i_0.00 pl -36.25+ 0.00

- 3000

3000 - 3000 B 3000

2000 4 2000 - 2000 B 2000

m 1000 - 1000 T 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (24, TVC(cbch) (24,6 TVC(c, bch) (24,

~ g 2AAE+UA 125 T rnar 211&+U5 125 Sy U)lée+U4 125 RS z)diEH)S/ZS
4000 pO 4209+ 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4228+ 0.0 4000 e, pO 4226+ 0.0
Pl 3572+ 0.00 -35.8+ 0.0 3 pl -36.71% 0.00 Pl -36.25% 0.00
3000 [ B 3000 1 3000~ — 3000 B
2000~ E 2000 — 2000 ] 2000 B
1000~ C b 1000 7 wool- C = 27.24 [ps/ch 7 wool- C = 27.59 [ps/ch ]
I = I L= L I L - I I -
EY 00 0 50 100 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

-1 nug,yyse+Us / 25 -1y bbze+u4 [ 25 Trnug.urse+ud /25 T bme+u6/25
4000 4245+ 0.0 4000 pO 4259+ 0.0 4000 [, DO 4275500 4000, p0 4280+ 0.0
382+ 0.0 Pl 37.24000 [ PL_ -37.13% 0.00 Pl -37.43% 0.00

-1 3000

3000 1 3000 -1 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 N 1000

I I [
% 50 00 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T i 3oe+Us / 25 T nui soae+ud [ 25 Tz s1ve+ud | 25 1 nuis.u4ze+U5 [ 25
4000 [m, pO 4245+ 0.0 4000 pO 4229+ 0.0 4000 PD 4233+ 0.0 4000 o, pO 4237+ 0.0
pl -34.55+ 0.00 -34.96 + 0.00 I pl -35.06 + 0.00 pl -34.97 + 0.00

- 3000

3000 -1 3000 - 3000 7

2000 - 2000~ - 2000 - 2000

1000 E 1000 - E 1000 ] 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (2,5,0)

- p0

X~ 1 g yyre+U4 [ 25
4215+ 0.0
p1 -35.74+ 0.00

TP delay

TVC(cbch) (2,54

[ns]

- 11y b18e+ud / 25
4187+ 0.0
-36.25+ 0.00

e, pO
pL
3000~ 7
2000 - ]
1000 C 7]
0 = 0o
TP delay [ns]
TVC(cbch) (2,5,8)
©nun b13e+u4 /25
4000 [ pD 4214 0.0
p1 -34.42 + 0.00
3000 - ]
2000 - 7
1000 C = 29.05 [pS/Ch] . 7]
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (2, 5 12)
-1 2.7 re+u5 /25
2000 [ pO 4232 0.0
pl -34.79+ 0.00
3000~ 7]
2000 - 7
woor C = 28.75 [ps/ch] ]
PR I S T S N | -_'
50 100
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,1)

e, po

X1z 30 e+U5 | 25
4209+ 0.0
-35.29+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 55

=1 U gbae+u5 / 25
4198+ 0.0
-36.82+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

B po

pl

-1 nug bgoe+u4 / 25
4238+ 0.0
-34.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

T nuiLpb/e+u5 /25
4240 0.0
-33.97+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

- "0
X pl
3000:— ]
2000:‘ _:
ok € = 28.62 [ps/ch]™., ]
I -ﬁ 4
0 = o

4000

3000
2000

1000

TVC(cbch) (2,5,2)

- P

pl

X~ 1L zoye+u4 [ 25
4221 0.0
-36.48+ 0.00

TP delay [ns]

TVC(cbch) (2,56

1000

T L0/e+04 /25
- pO 4201+ 0.0
- pl -35.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

Tl 141e+05 /25
4251+ 0.0
-34.94 + 0.00

TP delay [ns]

TVC(cbch) (2,514

- 1 nuiLu3ye+u4 [ 25
4246+ 0.0
-34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3)

o=, po

pl

A~ 1 nuiL 38oe+ud | 25
4221% 0.0
-36.61+ 0.00

TP delay [ns]

TVC(c,b ch) (2 57

- pO
p1

S nay 5rze+U5 /25
4209+ 0.0
-35.97 + 0.00

100

TP delay [ns]

TVC(c,b ch) (2, 5

= pO

RIS zbse+u5/25
4255+ 0.0
-34.44+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2, 5 15

Tinui143e+04 /25
4234+ 0.0
-34.66 + 0.00

[ C =28.85 [ps/ch]

50

100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,0

A~ 1 nui 4nse+ud [ 25
o po 4198+ 0.0
p1 -35.25+ 0.00

TP delay [ns]

TVC(cbch) (26,4

- 1nug4z2e+U5 [ 25
o, po 4260+ 0.0
pl -36.01+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 6,8

T L 113e+U5 / 25
pO 4246+ 0.0
p1 -34.68+ 0.00

TP delay [ns]

TVC(cbch) (2,6,12

-1y, 190e+U5 / 25
4228+ 0.0
-32.87 + 0.00

C =30.42 [ps/ch] ™. 1

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nun, fuLe+u4 [ 25
k.. po 4207+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (2 6,5

= nun glbse+ud /25
I e, po 4263+ 0.0
pl -34.81+ 0.00

[ C =28.73 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (2 6,9

1 v ane+ud [ 25
- pO 4264+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 6 13

T inaius/e+ud [ 25
E pO 4230+ 0.0
p1 -34.59 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A1 uzze+U5 /25
_l'_ po 4214+ 0.0
[ Pl -36.05: 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

= 1L Uoge+U5 / 25
P, pO 4257+ 0.0
[ p1 -35.29+ 0.00

- C = 28.34 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb.oh)=(2, 6, 10

1L zz4e+05 / 25
- po 4290+ 0.0
[ pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (2,614

T rnuy.41e+04 / 25
= pD 4233+ 0.0
L pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

A1 Bbae+ud | 25
k. po 4220+ 0.0
pL -35.55 + 0.00

[ C=28.13 [ps/ch

L
50 100

TP delay [ns]

TVC(cbch) (2,67

S 7 w102/25
pO 4262+ 0.0
p1 -34.79+ 0.00

[ C =28.75 [ps/ch] ]

50 100
TP delay [ns]

TVC(c,b ch) (2, 6

T 155e+u6/25
- pO 4289+ 0.0
-35.75+ 0.00

[ C=27.97 [ps/ch

50 00

TP delay [ns]

TVC(c,b ch) (2, 6 15

-1 nurs.ysye+U5 / 25
= 4243+ 0.0
-34.8+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

4uve+ud | 25
4200+ 0.0
-36.08 + 0.00

PSRALTY

1
50 100

TP delay [ns]
TVC(cbch) (2 7,4)
-1 nuiL uyse+u4 / 25
= pO 4187+ 0.0
pl -34.78 + 0.00
e 4
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (2, 7 8
= pD

© iz z14e+05 / 25
4211+ 0.0
-35.27 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,7,12

- po
p1

- rnuizuive+Us / 25
4221+ 0.0
-36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

e, po

A~ 1 nuiLbroe+us /25
4207+ 0.0
-36.55+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,7,5

nut

Yuu6 / 25
4190+ 0.0
-34.82 + 0.00

TP delay [ns]

TVCebeh)=(2,7, 9

FSRALTES

3re+U5/25
4223+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

= pO

Tinuzgy/e+ud [ 25
4212+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (2,7,2)

ro4e+U5 /25
4220+ 0.0
-37.58+ 0.00

A1 g,

. po
pl

TP delay [ns]

TVC(cbch) (2,7,6

- 1L 310e+04 / 25
4217+ 0.0
-35.29 + 0.00

= "
L p1
[ C =28.33[ps/ch
5(') 10'0

TP delay [ns]

TVC(ebeh)=(2, 7, 10

- U 33/e+04 [ 25
4224+ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(cbch) (2,7,14

- 15 re+u4 [ 25
4219+ 0.0
-35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,7,
%
pl

3

nuis.qyse+us / 25
4222+ 0.0
-36.42+ 0.00

TVC(c,b ch) (2 7,7

-

- pO
p1

1
100

TP delay [ns]

nuiL 4oye+u4 / 25
4213+ 0.0
-35.24 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2,71

g, /J.Le+u5/25
4242+ 0.0
-35.39+ 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (2, 7 15)
-1 nugz zoye+Us / 25
= pO 4227+ 0.0
-36.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

A7 1 nu, suze+u4 / 25
4215+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (28,4

= 1 i B35e+U5 / 25
4229+ 0.0
-34.6+ 0.0

[ C =28.90 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

Tz 3z1e+05 / 25
po 4231+ 0.0
pl -36.02+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,812

TVC(cbch) (2,8,1)

4000 fmr,

3000

2000

1000

X 1L 71ie+u5 /25
- po 4231+ 0.0
pL -35.9+ 0.0

TP delay [ns]

TVC(c,b ch) (2 8,5

4000 -

3000 -

2000 -

w0l C = 29,58 [ps/ch]

- nun 373e+04 / 25
pO 4226+ 0.0
338+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

4000 [

3000

2000

1000

T nuiz 183e+U5 / 25
po 4238+ 0.0
p1 -35.28+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,813

T rnugyule+u4 / 25
= pO 4265+ 0.0
pl -36.03+ 0.00

TP delay [ns]

4000 [

3000

2000

1000

T nu. zove+ud 25
4246+ 0.0
-36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

- C = 28.41 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (2,86

- 1 1u,683e+05 / 25
- pO 4244+ 0.0
L pl -34.26 + 0.00

X~ 1 gy ve+Us /25
po 4235+ 0.0
p1 352+ 0.0

TP delay [ns]

TVC(cbch) (2, 8 10

1 nup.z3ve+u4 | 25
- po 4254+ 0.0
- pl -34.83 + 0.00

TP delay [ns]

TVC(cbch) (2,8 14

T g, 1rve+Us / 25
__ pD 4263+ 0.0
L pl -36.06 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

A” 1L bloe+us /25
e po 4224+ 0.0
pl -33.75+ 0.00

[ C=29.63[ps/ch] %, ]
% T
TP delay [ns]

TVC(c,b ch) (2 8,7

-1 nu 198e+U5 / 25
- pO 4257+ 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (2,81

1oy, /me+u4/25
4276+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (2,815

T nai roae+u4 /25
po 4272+ 0.0
p1 -37.36+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

.. po

A1 B1ze+U5 /25
4157+ 0.0
-35.13+ 0.00

pl

1
50 100

TP delay [ns]
TVC(cbch)(294) -
11up 35 /e+U4 / 25
e pO 4203@
pl -37.34+ 0.00
[ C=26.78 [ps/c ]
= T
TP delay [ns]
TVC(c,b ch) (2 9,8

©1naiL2uze+U5 / 25
4204+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(Cbch) (2, 9 12

= po
p1

T p.goe+ud / 25
4203+ 0.0
-36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

. po

A7 1 nuiL 2Zove+u6 / 25
4170+ 0.0
-37.05+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 9,5

-1 nug 18ze+U5 / 25
4207+ 0.0
-37.89 % 0.00

1=
50 100

TP delay [ns]

TVC(c,b ch) (2,9,9

PSRRI

== po
pl

2Zoe+u5 /25
4218+ 0.0
-35.13 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 9 13

== pO

T inuin41e+U5/ 25
4198+ 0.0
-35.94+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,9,2)

b po

X~ 1L 1o8e+u4 [ 25
4179+ 0.0
p1 -35.02:+ 0.00

TP delay

TVC(cbch) (29,6

[ns]

T g,/ (ze+05/ 25
4201+ 0.0
pl -36.02 + 0.00

= PO
L C =27.76 [ps/ch .
= %
TP delay [ns]

TVC(eb,oh)=(2, 9, 10

F= F’O

T i 1z3e+U5 / 25
4239+ 0.0
p1 -35.17 + 0.00

TP delay

TVC(cbch) (2,914

= PD
L pl

[ns]

T gu/e+Us / 25
4208+ 0.0
-36.9 + 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,9,

A

o po
pL

3

nus, 148e+U5 / 25
4162+ 0.0
-34.8+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (2 9,7

-

- pO
p1

nuri zzve+U6 / 25
4230+ 0.0
-37.91+ 0.00

100

TP delay [ns]

TVC(c,b ch) (2, 9

T, b‘Jie+U5/25
4235+ 0.0
-35.73+ 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (2,9,15

X1

= po

nuiL y3re+ud [ 25
4203+ 0.0
-36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,10,0)

X~ 1 g usye+Us / 25
P po 4165+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (2,104

- rnuiLay/e+05 / 25
- pO 4195+ 0.0
p1 -35.04 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 10 8

1 nuig,uyve+Us / 25
= po 4219+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (2,10,12

i psze+U5 / 25
= po 4238+ 0.0
pl -35.51+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

AT 1 220e+U5 1 25
po 4167+ 0.0
pl -34.61+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (2,105

~1nu.4/9e+U5/ 25
pO 4196+ 0.0
p1 -34.39+ 0.00

1(;0
TP delay [ns]

TVC(ebeh)=(2, 10,9

Tanuw. /7 (e+u4 [ 25
pO 4244+ 0.0
pl -35.54 + 0.00

1
100

TP delay [ns]

TVC(cbch) (210,13

T 1 nuiL vove+u5 / 25
pO 4233+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

AT 1nuiizoe+04 /25
po 4191+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

TVC(cbch) (2.10,6

T b pe+ud [ 25
pO 4228+ 0.0
pl -35.88+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (2,10, 10

- 1.ade+us /25
po 4274+ 0.0
pl -36.43+ 0.00

1
100

TP delay [ns]

TVC(cbch) (2.10,14

~1nuizys3e+Us / 25
pD 4234+ 0.0
pl -35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10,3)

AT 1 nuzzyze+U5 [ 25
po 4192+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,7

-1 nub glze+u4d / 25
pO 4226+ 0.0
pL -35.75+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2,10, 11

T nuis./3e+U5 / 25
pO 4278+ 0.0
pl -37.26 + 0.00

TP delay [ns]

TVC(cbch) (210,15

-1 nus.ubse+us / 25
pO 4230+ 0.0
p1 -34.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

e, po

A~ 1 nuig 1ure+u4 / 25
4175+ 0.0
p1 -35.43+ 0.00

TP delay

TVC(cbch) (2, 11 4

[ns]

“ i1 54e+05 / 25
4187+ 0.0
-34.64 + 0.00

- pO
pL
- C N
1 i
50 100
TP delay [ns]
TVC(c,b, ch) (2, 11 8)
-1 nuz ba5e+05 / 25
= po 4212+ 0.0
pl -36.45+ 0.00

TP delay

TVC(c,b Ch) (2,11,12

[ns]

A~ 1 nui ysye+u4 25
= po 4233+ 0.0
p1 -35.36+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

[ po

AT 1 nuiLuzze+ud | 25
4190+ 0.0
-35.98 + 0.00

p1

TP delay [ns]

TVC(c,b Ch) (2, 11 5

ut

Y136 /25
4194+ 0.0
-35.52 + 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

-1 nug bbYe+Us / 25
4232+ 0.0
-35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 11 13

pO
p1

T inui s34e+U5 / 25
4233+ 0.0
-35.22+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2, 11 2)

= P°

T, 30e+U4 [ 25
4198+ 0.0
p1 -36.13+ 0.00

TP delay

TVC(chh) (2, 11 6

pO
p1

[ns]

©1nu,2u4e+04 | 25
4203+ 0.0
-35.69 + 0.00

TP delay

TVC(ebch)=(2, 11, 10

[ns]

X© 1 1t 28 (e+U4 | 25
po 4243 0.0
p1 -34.83+ 0.00

TP delay

TVC(c,b Ch) (2,11, 14

[ns]

A~ 1 nuig su/e+u4 /25
- po 4242+ 0.0
L pl -36.07 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

o po

A1 nuz413e+U5 / 25
4200+ 0.0
pl -35.74+ 0.00

TP delay

TVC(CbCh) (2, 11 7

E. pO

[ns]

=1 boge+us / 25
4214+ 0.0
p1 -35.68+ 0.00

50 160
TP delay

TVC(Ebeh=(2 11, 1

B pO

[ns]

Tinuzyr3e+ud [ 25
4229+ 0.0
pl -35.02+ 0.00

TP delay

TVC(c,b Ch) (2, 11 15

e pO

[ns]

)

1 nurs.yzoe+U5 / 25
4236+ 0.0
p1 -35.73+ 0.00

PR R SRR |
50 100

TP delay

[ns]



TVC(cbch) (2,12,0) TVC(cbch) (2,12, 1) TVC(cbch) (2,12,2) TVC(cbch) (2,12,3)
T rnuzzse+U5 /25 AT 1 nuz.1u4e+U5 1 25 “rnuiLpr1e+Us /25 AT 1 nun.usve+ud [ 25
4000 e, PO 4197+ 0.0 4000 - po 4206+ 0.0 4000 __ pO 4218+ 0.0 4000 po 4217+ 0.0
pl -37.09 + 0.00 pl -37.96 + 0.00 : pl -37.24 i_0.00 pl -36.45+ 0.00

3000

- 3000 -1 3000 = 3000 N

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,124 TVC(c, bch) (2,125 TVC(cbch) (2.12,6 TVC(c, bch) (2,12,7

-1 nuz,u48e+04 / 25 -1 nui Byze+u4 | 25 © U, 132e+04 [ 25 - U Ygbe+us / 25
4000 fm, pO 4219+ 0.0 4000 [, pO 4230+ 0.0 4000 fm, pO 4236+ 0.0 4000 e, pO 4265+ 0.0
Pl -36.12 0.00 Pl 36,52+ 0.00 - Pl -3645% 0.00 Pl -37.39: 0.00
3000 B 3000 - 3000 — 3000 g
2000 - 2000 - 2000 - 2000 g
1000 C B 1000 B w00~ C = 27.43 [pS/Ch ] 1000 C B
- I - 1
- F - -
- [ - -
1 [ 1 1 1 1
0 EY 00 0 0 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b, ch) (2,12,8) TVC(c,b ch) (2,12,9) TVC(c,b ch) (2,12,10) TVC(c,b ch) (2,12,11)
T nup.y3/e+u4 | 25 -1 nuz.yble+us / 25 ©1nuiLy1se+u4 / 25 ~ o nan1.yye+us / 25
4000 =, PD 4201+ 0.0 4000 o, DO 4227+ 0.0 4000 __- DO 4234+ 0.0 4000 fom, pO 4238+ 0.0
pl -34.67 + 0.00 pl -35.53 + 0.00 u pl -34.92 + 0.00 pl -34.99 + 0.00

3000

N 3000 - 3000 - 3000 -1

2000 B 2000 E 2000 — 2000

1000 1000 E 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (2,12,12) TVC(c,b ch) (2.12,13) TVC(c,b ch) (2.12,14) TVC(c,b ch) (2,12,15)
- ruig.uave+Us / 25 -1 nuiLg59e+U5 / 25 -1 nuiLusYe+Us / 25 T nuy.gble+us / 25
41000 o, pO 4246+ 0.0 4000 o, pO 4227+ 0.0 4000 4243+ 0.0 4000 B, pO 4233+ 0.0
pl -35.99+ 0.00 pl -34.7+ 0.0 F -35.71+ 0.00 pl -35+ 0.0

- 3000

3000 T 3000 -1 3000 7

2000 = 2000 1 2000 - 2000

1000 - 1000 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,13,0)

X~ 1 ooe+U4 [ 25
.. po 4202+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (2,134

Sy r81e+u4 [ 25
- pO 4238+ 0.0
pl -39.65:+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

1o, 148e+U5 / 25
= po 4203+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (213,12

1 uy.zove+ud | 25
= po 4229+ 0.0
pl -36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

A L4l e+Ud ] 25
o=, po 4220+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c, bch) (2,135

-1 nui b4 se+u4 [ 25
pO 4241+ 0.0
pL -39.16+ 0.00

TP delay [ns]

TVCEeben)=(2 13,9

T nu1g1e+ud / 25
= po 4228+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(cbch) (213,13

T inuior4e+ud [ 25
- pO 4224+ 0.0
pl -35.86 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (2,13,2)

A7 1 nuiz ouse+ud / 25
o= po 4210+ 0.0
- pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,136

- 1. 40ze+04 [ 25
E pO 4251 0.0
[ pl -39.27 + 0.00

TP delay [ns]

TVC(cbch) (2,13,10

T nuizu4e+U5 /25
= po 4239+ 0.0
- pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (2.13,14

~ 1w ysde+ud | 25
- pD 4227+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

A7 141e+U6 25
- po 4224+ 0.0
p1 -36.8+ 0.0

TP delay [ns]

TVC(c, bch) (2,13,7

“rnuan 1.19e+U6 / 25
E pO 4254+ 0.0
pL -38.76+ 0.00

50 1(;0 -
TP delay [ns]

TVC(eheh)=(2, 13, 11

T nun, fble+ud [ 25
e pO 4240+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (2,13,15

-1 nuiL yooe+u5 / 25
po 4228+ 0.0
-35.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T zuse+ud /25
.. pO 4173+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(Cbch) (2, 14 4

iUz /e+u4 [ 25
.. po 4182+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (2,14,8

- 1y s re+U4 | 25
= pD 4226+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

T g 1 e+u5/ 25
- po 4213+ 0.0
p1 -35.6+ 0.0

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

A7 1 nuiLyZoe+ud [ 25
., po 4177 0.0
p1 -35.82+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

-1 Ui BYoe+u5 / 25
e pO 4210 0.0
pL -37.13+ 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

T naiar3e+u4 25
= po 4250+ 0.0
p1 -37.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

T nuiLoroe+u5 [ 25
- pO 4212+ 0.0
p1 -36.93+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (2,14,2)

A1y, szoe+U5 [ 25
= po 4177+ 0.0
L pl -35.64 + 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 14 6

- 11Uy Bove+u4 / 25
- pO 4215+ 0.0
[ pl -36.38 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

- i 28 7e+U4 | 25
- pO 4260+ 0.0
[ p1 -37.09+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14

~ 1 nun . 488e+04 / 25
- pD 4211+ 0.0
L p1 -36.14+ 0.00

TP delay [ns]

TVC(Cbch) (2,14,3)

4000 [,

3000

2000

1000

A1 nuy s3ve+US / 25
po 4182+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 7

4000 (S

3000

2000 -

1000 C

“nu gre+u5/ 25
pO 4211£ 0.0
p1 -35.97+ 0.00

50 160
TP delay [ns]

TVC(ehch)=(2, 14, 11

4000 [ue.

3000

2000

1000

1 nuig.usbe+us / 25
pO 4264+ 0.0
p1 -37.42+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 15

4000 £,

3000

2000

1000

TinuissLie+rud [ 25
po 4212+ 0.0
p1 -35.77 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,15,0)

X~ 1nug.ugLe+ud [ 25
e po 4174+ 0.0
p1 -35.54+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 4

- a2, z2be+05 / 25
4189+ 0.0
-35.5+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,15,8

~ 1 nuizyole+Us / 25
4210+ 0.0
-36.5+ 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (2, 15 12

T rnuizpyre+ud | 25
= po 4218+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(chh) (2,15,1)

3000

2000

1000

AT rnuiL131e+u4 /25
4000 e po 4186+ 0.0
pl -35.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 5

4000

3000

2000

1000

Cnuz1/e+U5/25
4187+ 0.0
-34.6 + 0.0

50 150
TP delay [ns]

TVC(ebeh)=(2 15,9

4000 [

3000

2000

1000

T nuiLyy/e+us / 25
po 4236+ 0.0
pl -35.96 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 15 13

4000 [

3000

2000 -

1000 [~

T nuizpule+ud / 25
pO 4208+ 0.0
-34.79+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,15,2)

TP delay [ns]

TVC(Cbch) (2, 15 6

A~ 1nwn L zae+u4 | 25
.. po 4190 0.0
L pl -35.46 + 0.00

3000

-1 nui 1obe+u4 / 25
4199+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

~1nu, 32pe+U5 / 25
- po 4265+ 0.0
[ p1 -37.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 14

©1nuiLuy3se+U6 / 25
- pD 4223+ 0.0
| pl -35.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

A~ 1 nuiLzoze+ud [ 25
- po 4197+ 0.0
pL -35.51+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 7

- U B3be+u4 / 25
- pO 4211£ 0.0
p1 -35.95+ 0.00

50 160
TP delay [ns]

TVC(ehch)=(2, 15, 11

T onan 1 z9e+u4 [ 25
= po 4237+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (2, 15 15

- i usde+ud [ 24
pO 4211+ 0.0
p1 -33.19+ 0.00

TP delay [ns]



TVC(cbch) (3,0,0

4000

3000

2000

1000

AT 1nui41se+04 /25
— po 4203+ 0.0
pl -37.96+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

4000

3000

2000

1000

- 1 nur boge+ud [ 25
- pO 4216+ 0.0
p1 -37.48+ 0.00

TP delay [ns]

TVC(cbch) (3 0,8

4000

3000

2000

1000

0

1z, (ope+u4 [ 25
- po 4168+ 0.0
pl -33.94 + 0.00

0

TP delay [ns]

TVC(cbch) (3,0,12

4000

3000

2000

1000

T L plse+u4 / 25
- po 4240+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1

X~ 1 i Zoae+ud | 25
- po 4174+ 0.0
pL -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nui ba3e+u4d / 25
- pO 4207+ 0.0
pL -36.59+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 0,9

-1 nuw.bbe+u4 [ 25
- pO 4211+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(C, bch) (3,0,13

T naibuse+ud / 25
- pO 4224+ 0.0
pl -35.65+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000
3000

2000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

2000

1000

TVC(cbch) (3,0,2)

1000

AT 1 nui 3ose+u4 /25
po 4193+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(cbch) (3,0,6

- nunLg3ze+u4 [ 25
[™=. po 4230+ 0.0
[ pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

1 nuz 3uge+u4 | 25
4202+ 0.0
-34.01+ 0.00

TP delay [ns]

TVC(cbch) (3,0,14

T rnuiLgo/e+04 /25
[= pD 4234+ 0.0
L pl -36.02 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

AT 1L zove+ud [ 25
- po 4201+ 0.0
pl -37.04+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

- 1nui 9y /e+u4 / 25
- pO 4237+ 0.0
pL -37.85+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

T ‘JUbe+U4/25
. po 4209+ 0.0
p1 -34.71+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

71 nui pboe+ud / 25
- po 4218+ 0.0
p1 -34.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (3,1,0)

=, PO

AT 1nuiazse+04 /25
4179+ 0.0
pl -37.04 + 0.00

TP delay

TVC(cbch) (31,4

E pO
pL

[ns]

T rnuan 1 5ye+04 /25
4200+ 0.0
-36.02 + 0.00

50 10‘0
TP delay

TVC(cbch) (3 1,8

[ns]

T zuse+u4 /25
4190+ 0.0
-35.3+ 0.0

1
0 50 100

TP delay [ns]
TVC(Cbch) (3, 1 12)
~rnuiLsole+ud / 25
4000 [ po 4213+ 0.0
pl -34.64 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

- PO

A~ 1L 4ove+ud [ 25
4188+ 0.0
pl -36.86 + 0.00

TP delay

TVC(c,b ch) (3 1,5

[ns]

-1 nui 3bYe+u4 / 25
4189+ 0.0
pl -35.42 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (3 1,9

[ns]

-1 nui Uovbe+ud 25
4195+ 0.0
pl -36.03 + 0.00

1
50 100

TP delay

TVC(cbch) (3,1,13

- pO
p1

[ns]

T inai srse+ud [ 25
4220+ 0.0
-36.6 + 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,1,2)

. po

A7 nun44se+04 / 25
4180+ 0.0
pl -36.12+ 0.00

TP delay

TVC(cbch) (31,6

pO
p1

[ns]

-1 i boye+ud / 25
4207+ 0.0
-36.15+ 0.00

TP delay

TVC(cbch) (3, 1 10

= DO

[ns]

T nuizgu/e+u4 [ 25
4195+ 0.0
p1 -34.87 + 0.00

TP delay

TVC(cbch) (31,14

L= pD

[ns]

T L zoge+u4 [ 25
4208+ 0.0
pl -35.59 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

- po
pL

AT 1 nuiLosbe+ud /25

4201+ 0.0

-36.06 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 1,7

- pO
pl

- nui Bore+u4 / 25

) —‘
4218+ 0.0

-36.57 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, l

TnaiLg//e+u4 /25

1) —‘
4212+ 0.0

-36.13+ 0.00

1
100

TP delay [ns]

TVC(cbch) (31,15

TnaiL s/ e+ud /25

-35.18 + 0.00

) —‘
4218+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,2,0

AT 1nuizive+U4 /25
- po 4168+ 0.0
pl -35.53+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,24

- i z3ve+ud | 25
4177+ 0.0
-35.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 2,8

T L, r3pe+u4 / 25
- po 4219+ 0.0
pl -35.49+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,212

T rnuiLza4e+04 | 25
= po 4226+ 0.0
pl -35.36 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,21

A1 i Zuae+ud | 25
- po 4189+ 0.0
pL -36.59 & 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nu Zg3e+u4d [ 25
- pO 4201% 0.0
pL -36.87+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 2,9

T nu. 130e+04 / 25
= pO 4233+ 0.0
pl -36.26 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,2,13

T inai zzge+ud | 25
- pO 4226+ 0.0
pl -35.67 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,2,2)

A7 1nuizose+ud /25
[ ™ po 4194+ 0.0
L pl -37.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

o 4sve+04 [ 25
L= pO 4200+ 0.0
L p1 -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 2 10

1 nuz 39pe+u4 | 25
- po 4273+ 0.0
o pl -37.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

T 1L 1y4e+04 / 25
4219+ 0.0
-35.23+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

AT 1 nuiL4uze+ud [ 25
- po 4195+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

- nui 31/e+04 / 25
- pO 4206+ 0.0
pL -35.73+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 2

RIS zabe+u4/25
. po 4265+ 0.0
pl -37.03+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,215

T naizzse+ud [ 25
4234+ 0.0
-35.21+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0

X~ 1L ur4e+U4 /25
S PO 4187 0.0
pl -35.65+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,3.4)

rnar " yys7 /25
p0 4209+ 0.0
pl -34.2+ 0.0

TP delay [ns]

TVC(cbch) (3 3,8

1 nuiLpy/e+u4 [ 25
PD 4211+ 0.0
pl -35.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,312

~1nuiL obze+ud / 25
PO 4231+ 0.0
pl -35.78 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,1)

i Lserud | 25
[~ PO 4196+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (33,5

Trna BY38 /25
[ DU 4222 0.0
Pl -35.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

-1 nug pybe+ud / 25
- DO 4220+ 0.0
pl -34.64 + 0.00

TP delay [ns]

TVC(C, bch) (3,313

T zuze+u4 [ 25
pO 4232+ 0.0
pl -35.86 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,3,2)

X~ 1w 1ure+U4 /25
L= PO 4212+ 0.0
I pl -35.89+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

- rnuiL1z4e+04 [ 25
™ pO 4231+ 0.0
3 Pl -3547%0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T nuiLy1ge+ud / 25
L= DO 4249+ 0.0
I pl -35.53 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

~ i ssve+ud | 25
4215+ 0.0
-35.8 + 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT 1 nuiLUBbe+U4 / 25
[= PO 4212 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 nui Z4pe+04 / 25
PO 4248+ 0.0
pL -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

Sl 145&+u4/25
- pO 4249+ 0.0
pl -36.48 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (33,15

~ 1 aqye+u4 [ 25
PO 4237+ 0.0
pl -36.39 + 0.00

TP delay [ns]



TVC(cbch) (3,4,0)

4000

3000

2000

1000

T Lave+ud /25
- pO 4192+ 0.0
pl -36.62+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (34,4

4000

3000

2000

1000

- L0 r4e+u4 / 25
- pO 4227+ 0.0
pl -35.98:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

4000

3000

2000

1000

0

T nug,3u4e+u4 [ 25
- po 4210+ 0.0
p1 -34.3% 0.0

0

TP delay [ns]

TVC(cbch) (3,4,12

4000

3000

2000

1000

T 1s1e+ud /25
- po 4235+ 0.0
pl -36.38+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT 1 nunLzuse+ud [ 25
- po 4189+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

- nui 103e+u4 / 25
- pO 4232+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

<1 nuw byae+u4 / 25
- po 4229+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(C, bch) (3,4,13

T a3 roe+ud [ 25
- pO 4222+ 0.0
pl -37.16 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,4,2)

X~ 1L Z/oe+U4 /25
L= po 4185+ 0.0
L p1 -35.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

Tnun134e+04 /25
- pO 4240+ 0.0
- pl -37.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

© 1 nuiz.z00e+u4 [ 25
[ po 4239+ 0.0
- pl -35.69+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

TrnuiLsyre+u4 [ 25
= pD 4221+ 0.0
L p1 -36.78 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT rnuiLgore+ud [ 25
- po 4204+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- i 4/ae+04 | 25
- pO 4247+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 4

T bzbe+u4/25
- pO 4244+ 0.0
p1 -34.89 £ 0.00

TP delay [ns]

TVC(C, bch) (34,15

Tinaisz/e+u4 /25
4225+ 0.0
-36.01+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ nuiLusie+ud /25
— po 4201+ 0.0
pl -35.22+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,54

T 38/e+04 / 25
[ pO 4212+ 0.0
pl -35.35+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

T g, ruve+u4 | 25
- po 4239+ 0.0
pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

1 nuiL4upe+u4 / 25
- po 4293+ 0.0
pl -36.34+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

A~ 1 lore+ud [ 25
I po 4227+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (3 55

- 1nui 4zze+04 [ 25
e, pO 4202+ 0.0
p1 -34.67+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

-1 nuw.ouBe+U4 / 25
[ po 4268+ 0.0
pl -35.32 + 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

Tonanyzie+ud [ 25
- pO 4281+ 0.0
pl -36.75+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

1000

AT 1nui izse+04 /25
[, po 4231+ 0.0
o pl -35.86+ 0.00

3000

-1 nuiL403e+04 / 25
= po 4206+ 0.0
[ pl -34.36+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

0

T nuzb43e+u4 [ 25
po 4283+ 0.0
p1 -34.89 % 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

~ 1L zode+u4 | 25
. pD 4281+ 0.0
[ -36.8+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnuiLzrse+ud [ 25
™, po 4239+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui 480e+04 / 25
e, pO 4219+ 0.0
p1 -34.34+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5

T babe+u4/25
po 4288+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(C, bch) (3,5,15

Tonan L zge+ud | 25
- pO 4294+ 0.0
p1 -36.9+ 0.0

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

AT inui 1sze+04 /25
- po 4174+ 0.0
p1 -34.09 + 0.00

TP delay [ns]

TVC(cbch) (36,4

T 31/e+04 /25
- pO 4239+ 0.0
pl -36.63+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

©1nuig.Uoze+u4 | 25
- po 4228+ 0.0
pl -36.52+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,6,12

T aze+ud /25
- po 4221+ 0.0
pl -35.12+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1

A7 1 nunL1ooe+ud [ 25
[ po 4185+ 0.0
pl -34.57+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nu 3z8e+u4 [ 25
- pO 4255+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nun.a10e+04 / 25
- po 4256+ 0.0
pl -36.18 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,6,13

Tonangve+ud [ 25
pO 4233+ 0.0
pl -35.92+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,6,2)

1000

K™ 1nuizyie+u4 /25
po 4202+ 0.0
pl -35.18+ 0.00

TP delay [ns]
TVC(cbch) (3 6,6)
T 1.30e+u4 /25
™. po 4257+ 0.0
L pl -36.83::‘
[ C=27.16 [ps/ch 7
| 1 ) had
50 100

TP delay [ns]

TVC(cbch) (3, 6 10

1 nuiz,gupe+u4 / 25
po 4250+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

T L usze+u4 | 25
DD 4245+ 0.0
pl -36.49+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT rnuiLzole+ud [ 25
- po 4192+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui buye+u4 / 25
Fu, pO 4260+ 0.0
pL -37.76+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T bzue+u4/25
- pO 4264+ 0.0
pl -36.68 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,6,15

Tnuiz1se+ud [ 25
4239+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

AT inuiLurze+ud /25
- po 4195+ 0.0
pl -35.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (37,4

- i 11ze+04 / 25
- pO 4203+ 0.0
p1 -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

1 nuiLYoge+u4 / 25
- pO 4211+ 0.0
pl -36.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLzsse+ud | 25
pO 4224+ 0.0
pl -34.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT 1 nuiLuy/e+u4 /25
[ po 4200+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui 139e+04 / 25
- pO 4193+ 0.0
p1 -34.74+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nu.3bze+ud / 25
po 4238+ 0.0
pl -36.49 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,13

Tinaizr1e+ud /25
- pO 4208+ 0.0
pl -34.96 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

TP delay [ns]

TVC(cbch) (37,6

AT 1nuiLiore+u4 /25
_'h po 4215+ 0.0
o pl -36.08 + 0.00

3000

-1 nui184e+04 / 25
[=. po 4212+ 0.0
3 pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Tanuz3e+u4 | 25
[ po 4253+ 0.0
L pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (3,7,14

~ 1 nuiLuYoe+u4 / 25
pD 4209+ 0.0
pl -34.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

AT rnuiLziie+ud /25
[T, po 4215+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nui Zgye+u4 | 25
-, pO 4225+ 0.0
pL -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 7

T au5e+u4/25
. po 4252+ 0.0
pl -36.84 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,15

Tonany1/e+ud |25
- po 4215+ 0.0
p1 -35.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

K™ nuiLu4ze+04 /25
po 4217+ 0.0
pl -37.26+ 0.00

5[‘) 10‘0 =
TP delay [ns]
TVC(cbch) (3 8,4)
<1 nuiL uzbe+u4 / 25
[, pO 4221+ 0.0
pl -35.29 ::‘
- C |
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (3, 8 8

T 3o0e+04 /25
po 4247+ 0.0
pl -38.12+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,812

~ 1L zobe+u4 / 25
pO 4237+ 0.0
pl -36.12+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT 1 nuLUbse+ud /25
- po 4196+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

=1 nui 3vbe+u4 [ 25
e, pO 4208+ 0.0
pL -35.12:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

~ 1 nuig vble+ud / 25
e po 4263+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

Tinai/1e+ud /25
4233+ 0.0
-36.02+ 0.00

il
100

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,8,2)

A~ i [10e+04 [ 25
L= po 4198+ 0.0
L pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

1000

- L 291e+04/ 25
™. pO 4217+ 0.0
L pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

©1nuzboge+u4 | 25
- po 4269+ 0.0
o pl -37.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,814

TrnuiLzsie+u4 [ 25
4231+ 0.0
-36.33+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiL lobe+ud [ 25
[ po 4229+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

“rnuan 1486404 [ 25
e, pO 4238+ 0.0
pL -36.07+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T, ib/e+U4/25
e pO 4273+ 0.0
pl -37.93+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

T nai zuae+ud [ 25
e po 4240+ 0.0
p1 -35.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(3,9,0)

T LAl Yous /25
- PO 4213+ 0.0
pl -35.43+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (3 9,4)
T 113e+04 / 25
™= pO 4207+ 0.0
Pl -34,91::‘
- C -
1 1 -
50 100
TP delay [ns]
TVC(c,b ch) (3, 9 8

- o 1y/e+04 /25
PD 4215+ 0.0
pl -34.85+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T inuiL4p1e+U4 / 25
PO 4268+ 0.0
pl -36.39 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,1)

Srnar 7 o109/25
[ PO 4230 0.0
pL -35.96 & 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

“nu 3s/e+04 [ 25
e pO 4214+ 0.0
pL -35.95+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 9,9

~ 1 nup, 1bse+ud / 25
4228+ 0.0
-35.4+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,13

T 433e+u4 [ 25
[ po 4247400
pl -36.53 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,9,2)

TP delay [ns]

TVC(cbch) (39,6

X~ 1L uose+U4 [ 25
™ po 4229+ 0.0
3 pl -35.68 + 0.00

3000

- rnur bzye+04 [ 25
™ pO 4229+ 0.0
3 pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (3, 9 10

1000

0

T nu31oe+u4 / 25
= DO 4249+ 0.0
3 Pl -34.82% 0.00

TP delay [ns]

TVC(cbch) (3,9,14

1 nuiL409e+04 / 25
PD 4253+ 0.0
pl -37.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3)

Srnar 7 ysd5 /25
[ PO 4227+ 0.0
pL -34.86  0.00

TP delay [ns]

TVC(cbch) (39,7

-1 nui 344e+04 / 25
[ PO 4240+ 0.0
pL -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T, /i‘Je+U4/25
[ p0 4255 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T sy4e+04 [ 25
[ po 4246+ 0.0
pl -36.8 + 0.0

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T rnuwLuzie+u4 /25
4217+ 0.0
-36.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,10,4

- 1L z9ve+u4 / 25
4205+ 0.0
-36.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

T rnuiLyl/e+u4 [ 25
- pO 4249+ 0.0
pl -36.77 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (310,12

T/ re+u4 /25
pO 4233+ 0.0
pl -34.84+ 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (3, 10 1)

s

4000 pO

- vv26 / 25
4219+ 0.0
pl -37.69 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (3,10,5

4000 [, pO
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[ns]

-1 nun 333e+04 / 25
4211+ 0.0
-36.64 + 0.00

3000

2000 -

1000 C

50 1(;0
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TVC(c, bch) (3, 10 9

4000 e, po

[ns]

Tanan g 71e+u4 /25
4262+ 0.0
pl -36.45 + 0.00
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TP delay

TVC(cbch) (310,13
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[ns]

T inai1uge+ud / 25
4233+ 0.0
-34.21+ 0.00
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TP delay

[ns]
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1000
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3000
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0
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2000

TVC(CbCh) (3,10,2)

1000

K™ 1 nuiLuuse+ud / 25
[, po 4216+ 0.0
o pl -37.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (3,10,6

T nun134e+04 /25
[ po 4223+ 0.0
- pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (3, 10 10

T z.59e+04 /25
= po 4275+ 0.0
- pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (3.10,14

1000

T r4e+04 /25
__- pD 4235+ 0.0
L pl -35.08 + 0.00
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-1 nui bloe+u4d / 25
4232+ 0.0
-37.8+ 0.0

50 1(;0
TP delay

TVC(cbch) (3, 10 1

[ pO

[ns]

-1 nui oze+u4 / 25
4273+ 0.0
-35.8+ 0.0

TP delay

TVC(cbch) (3,10,15

[ns]

T nai zzze+u4 [ 25
4223+ 0.0
p1 -35.45+ 0.00

TP delay

[ns]
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- po 4186+ 0.0
pl -36.64 + 0.00
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TP delay [ns]

TVC(cbch) (3,11,4

-1 nuiLus4e+ud / 25
4168+ 0.0
-35.2+ 0.0
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TP delay [ns]

TVC(cbch) (3, 11 8

T o4e+04 [ 25
- po 4237+ 0.0
pl -36.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (311,12

T Laoe+ud /25
pO 4216+ 0.0
pl -35.29+ 0.00

PR B SRS |
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TVC(Cbch) (3,11,1)
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pl -35.57+ 0.00

TP delay [ns]

TVC(cbch) (3,11,5

4000 |,
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pl -33.27+ 0.00

TP delay [ns]
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-36.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (311,13
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L p1 -36.24 + 0.00
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TP delay [ns]

TVC(cbch) (3116

-1 nui334e+04 [ 25
X po 4198+ 0.0
[ pl -34.94+ 0.00

TP delay [ns]

TVC(cbch) (3,11, 10

X~ 1 nuizulve+ud [ 25
N po 4243+ 0.0
o pl -34.56 + 0.00
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TVC(cbch) (3.11,14)

T pase+ud /25
N pD 4194+ 0.0
L p1 -34.48 + 0.00
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TVC(cbch) (3,11,3)

AT 1L sove+ud [ 25
- po 4193+ 0.0
p1 -35.84 + 0.00

TP delay [ns]

TVC(cbch) (3,11,7

Cnun1z/e+04 /25
-, pO 4183 0.0
p1 -34.37+ 0.00

TP delay [ns]

TVC(Ebeh=(3, 11, 11

<1 nuiL puse+u4 / 25
4265+ 0.0
-36.6 + 0.0
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50 100

TP delay [ns]
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pL -34.97 + 0.00
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TVC(cbch) (4,0,4

S 7 9620125
k. pO 4199 0.0
p1 -35.78:+ 0.00

TP delay [ns]

TVC(cbch) (4 0,8

-z bave+ud [ 25
- po 4198+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (4,0,12

- 1 i s9se+u4 [ 25
= po 4204+ 0.0
p1 -33.93+ 0.00
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=1 nui 2uye+u4 [ 25
- pO 4203 0.0
p1 -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,9

-1 nug.pbze+ud / 25
- pO 4224+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, O 13

T inai zsze+ud [ 25
= pO 4198+ 0.0
p1 -32.87+ 0.00
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= 1 nui Zgve+ud | 25
= po 4228+ 0.0
p1 -35.92+ 0.00
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T, /4He+u4/25
= po 4236+ 0.0
p1 -34.43+ 0.00
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S 1z3e+ud [ 25
= pO 4196+ 0.0
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-35.98 + 0.00
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TVC(c,b ch) (4 1,9

== pO
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T nug gzoe+ud [ 25
4209+ 0.0
-34.64+ 0.00
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-35.4+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (4,1,2)

[oase po

pl

A7 1 nun zyse+u4 / 25
4185+ 0.0
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E po
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T b 3e+u4 [ 25
4192+ 0.0
-35.62 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 1, 10

=) g,
- 90
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115e+04 /25
4245+ 0.0
-35.15+ 0.00
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F, pO
pl

TP delay [ns]

TVC(c,b ch) (4 1,7

= po
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S nun 1p3e+ud [ 25
4200+ 0.0
-35.84 % 0.00
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TP delay [ns]

TVC(c,b ch) (4, 1
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-1 nui yyse+ud [ 25
4238+ 0.0
-33.8+ 0.0
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50 100

TP delay [ns]

TVC(C, bch) (4,1,15

A1 nan g
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4209+ 0.0
-35.48 + 0.00

TP delay [ns]



TVC(ehe)=(4,2,0) TVC(ebe)=(4,2,1) TVC(ehe)=(4,2,2) TVC(ebe)=(4,2,3)
AT i Szbe+ud [ 25 AT 3z1e+u4 [ 25 A~ 1L 38oe+u4d | 25 X~ 1 i aspe+ud | 25
4000 PO 4208+ 0.0 4000 po 4207+ 0.0 4000 =, po 4236+ 0.0 4000 pO 4224+ 0.0
Pl -35.23+ 0.00 Pl -34.74%0.00 [ Pl -35.82% 0.00 Pl -34.18% 0.00

3000

4 3000 - 1 3000 [

-1 3000~

2000 T 2000~ B 2000 2000 [

1000 -

1000 ] wor C = 28.78 [ps/ch] ] ] wof C = 29.26 [ps/ch]™,_ "
% T % i % e
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,24 TVC(cbch) (42, TVC(cbch) (4,2,6 TVC(c, bch) (42,

Srna 1)b$e+U4 125 S i)bLE+U4/25 “narg, I)Aueﬂjd 125 Sonarg, /)bbE+l)4/25
4000 pO 4199+ 0.0 4000 =, pO 4209+ 0.0 4000 = pO 4216+ 0.0 4000 fes pO 4226+ 0.0
Pl -34.14%0.00 pl_ -33.07:0.00 [ Pl -33.89% 0.00 Pl -34.49: 0.00
3000 - - 3000 - 3000 -— —- 3000 -
2000 E 2000 ] 2000k ] 2000 | ]
o - [ L 1000+ C = B
1000- C = 29.29 [pS/Ch] . wool C = 30.24 [pS/Ch] A 000~ C = 29.51 [pS/Ch] 5 ] C =28.99 [pS/Ch] -
1 1 - 1 1 - L 1 1 - ] 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (4 2,8) TVC(c,b Ch) (4 2,9) TVC(c,b, Ch) (4, 2 10) TVC(c,b Ch) (4, 2 11)
T nug.yy/e+ud / 25 T 1ure+us / 25 ©nug, (9ge+u4 / 25 T Ly /be+u4 / 25
4000 fe pO 4234+ 0.0 4000 fae, pO 4258+ 0.0 4000 fome, DO 4267+ 0.0 4000 fs p0 4265+ 0.0
Pl -36.05: 0.00 Pl 3568+ 0.00 L PL_ -3561% 0.00 Pl 3538+ 0.00

3000

7 3000 - 3000 - 3000

2000 7 2000 B 2000 - 2000

1000 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,212 TVC(C, bch) (4,213 TVC(cbch) (4,2 14 TVC(C, bch) (4,215

RERLUS l\?ze*\JA 125 EEALUN /2:;e+\)4/25 Taonang, /)zewA 125 SRR nz?:ye+\)4/25
4000 e pO 4224+ 0.0 4000 4225£ 00 4000 o, PD 4209% 0.0 4000 42213 00
Pl -34.92+0.00 -34.1% 0.0 3 Pl -34.27+0.00 -34.53+ 0.00

3000 B 3000 E 3000~ — 3000 E

2000 e 2000 - 2000 ] 2000 [ B

1000 E L ] [ ~_ ] F ~ _ ]

woor C = 29.32 [ps/ch] ™, 10r C =29.18 [ps/ch]™,_ 7] 1or C = 28.96 [ps/ch]™,_
L 1 -- A 1 1 -- : L 1 --
P S T PP P Y S -

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(430) TVC(cbch)(431) TVC(cbch)(432) TVC(cbch)(433)
— A 1 Osve+ud [ 25 - A~ 1 Osae+ud [ 25 - X1 i Lsse+u4 [ 25 - R Lsze+ud [ 25
4000k, PO 4178+ 0.0 00E,, po 4184+ 0.0 4000, po 4204+ 0.0 4000 o, po 4205+ 0.0
pl -35.66 + 0.00 p1 -34.91# 0.00 I pl -35.55 + 0.00 pl -35.64 + 0.00

3000

N 3000 =1 3000 -1 3000 -1

2000 4 2000 . 2000 | . 2000

1000 1000 - 1000 = - 1000

L L Il 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,34 TVC(cbch) (43,5 TVC(cbch) (4,3,6 TVC(c, bch) (43,

“narg, l)tsleﬂJA 125 S 2 3e+ud /25 “ g J)Uae+U4 125 T nar 2bﬂe+l)4/25
4000, pO 4198+ 0.0 4000, pO 4210+ 0.0 4000, pO 4220+ 0.0 4000 e, pO 4245+ 0.0
pl -35.84+ 0.00 pL -36.74+ 0.00 3 pl -35.59+ 0.00 pL -36.64 + 0.00
3000 [ - 3000 [ — 3000 ] 3000 B
2000 - - 2000 ] 2000F 3 2000 [ -
10001 G . woor C = 27.22 [ps/ch ] w00~ C = 28.10 [ps/ch b Lo C ]
1 L5 1 il o 1 L 0 1 1 -
50 00 50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4 3,8 TVC(cbch) (4 3, TVC(cbch) (4, 3 10 TVC(c, bch) (4, 3

RERLEUE 2:;@4—04 125 ERALEICK b)uae+u4/25 T zsz)/e+04/25 T bu)::e+u4/25
4000 o, PO 4208+ 0.0 4000 o, DO 4208+ 0.0 4000 __- DO 4241+ 0.0 4000 4253+ 0.0
-34.33+ 0.00 pl -33.31+ 0.00 F pl -34.85+ 0.00 -34.6 £ 0.0
3000 E 3000 - . 3000 I ] 3000 -
2000 - — 2000 - n 2000f ] 2000 E
10r C =29.13 [ps/ch]™,_ 7 w0k C = 30.03 [ps/ch] ™. ] 1o0op ] 10 C =28.90 [ps/ch]™_ 1]
1 [ 1 1 " 1 1 "
0 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(43l ) TVC(cbch)(4313) TVC(cbch)(43l ) TVC(cbch)(4315)
T rnuig.410e+04 / 25 T inug s ve+ud [ 25 Trnuiga41e+04 /25 1 nuis.04ve+u4 / 25
4000 4247+ 0.0 4000 [, pO 4232+ 0.0 4000 [, PD 4230+ 0.0 4000 [ pO 4241+ 0.0
-35.91+ 0.00 pl -36.27 + 0.00 F pl -35.68 + 0.00 pl -35.24+ 0.00

3000

-1 3000 - 3000 N 3000 T

2000 - 2000 B 2000 4 2000

1000 - 1000

1000 N 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (4,4,0

X1 na )5307 125
E po 4180+ 0.0
p1 34.6+ 0.0

TP delay [ns]

TVC(cbch) (44,4

s rna 88/0/25
== po 4193+ 0.0
pl -34.67 + 0.00

50 10‘0
TP delay [ns]

TVC(eb.ch)=(4, 4,8

T, fo1e+u4 / 25
4211+ 0.0
-36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (44,12

1 nuiL4o0e+04 / 25
- po 4204+ 0.0
pl -35.21+ 0.00
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TVC(cbch) (4.4,1)
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S 7 sys2/25
» pO 4172+ 0.0
pl -33.72:+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 4,5

-1 nui Dyze+u4 / 25
pO 4201% 0.0
pL -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 4,9

Tanae 7 /e+04 /25
po 4249+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (4,4,13

Tinaisrze+ud [ 25
pO 4212+ 0.0
pl -35.73+ 0.00

TP delay [ns]
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TVC(cbch) (4,4,2)

Srwae C yss5/25
pO 4183+ 0.0
p1 -35.17 £ 0.00

TP delay [ns]

TVC(cbch) (44,6

T rnun133e+04 / 25
pO 4222+ 0.0
pl -35.91+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (44,10

T, r35e+04 | 25
po 4248+ 0.0
pl -35.41+ 0.00
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T grze+u4 [ 25
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pl -34.79+ 0.00
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AT 1 nuiLUvoe+ud [ 25
poee, po 4196+ 0.0
pl -34.52+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

- nui 1b3e+04 / 25
- pO 4217+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 4

1)
-1 nui p3be+ud / 25
- po 4266+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (44,15

1 nui suoe+u4 / 25
= pO 4206+ 0.0
p1 -34.99 + 0.00

TP delay [ns]
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TVC(c,b,ch)=(4, 5,0)

' K- 098/ 25
.. po 4184+ 0.0
pL -35.72. 0.00

TP delay [ns]

TVC(cbch) (4,54

T rnuLzy/e+u4 [ 25
e pO 4184+ 0.0
p1 -36.15+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (4 5,8

-, fone+ud 1 25
- pD 4223+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (4,5,12

T rnuiLzise+u4 / 25
= po 4227+ 0.0
pl -35.87 + 0.00
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TVC(cbch) (4,51

AT 1 nuiLuyse+u4 / 25
= po 4204+ 0.0
p1 -36.85 + 0.00

TP delay [ns]

TVC(c,b ch) (4 55

-1 nui 24ye+u4 [ 25
e, pO 4191% 0.0
pL -36.26+ 0.00

TP delay [ns]

TVC(c,b ch) (4 59

T naiy zgle+ud [ 25
- pO 4242+ 0.0
p1 -36.22+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 5 13

T inai z4se+ud [ 25
= pO 4223+ 0.0
pl -36.44 + 0.00
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TVC(cbch) (4,5,2)

A~ 1 nui Unae+ud / 25
-, po 4187+ 0.0
[ p1 -36.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

-1 i 38be+04 / 25
4187+ 0.0
-36.5+ 0.0

TP delay [ns]
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= pO

T nui zoae+ud 25
4213+ 0.0
-34.72+ 0.00

TP delay [ns]

TVC(CbCh) (4,12,2)

4000 po

3000
2000

1000

AT 1w Luse+ud | 25
4225+ 0.0
p1 -36.16+ 0.00

TP delay

TVC(Cbch) (4, 12 6

4000 fom PO

pl

[ns]

© il 154e+04 / 25
4224+ 0.0
-35.67 + 0.00

3000 [~

2000~

1000:— C =28.03 [pS/Ch

TP delay

TVC(cbch) (412,10

4000 _- DO

pl

[ns]

S rnun zgoe+u4 [ 25
4262+ 0.0
-34.34 + 0.00

3000

2000 |~

1000:— C=29.12 [pS/Ch]

1
o 50 100

TP delay

TVC(CbCh) (4, 12 14

4000 [

[ns]

- i s37e+u4 [ 25
4219+ 0.0
pl -35.53+ 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (4,12,3)

A1 nuiLuZzie+ud [ 25
4222+ 0.0
pL -36.26+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (4, 12 7

4000 e, PO

[ns]

-1 nui 3ble+u4 / 25
4239+ 0.0
p1 -35.23+ 0.00

3000 -

2000 -

0r C = 28.38 [ps/ch

TP delay

TVC(c, bch) (4, 12 11

4000 e, pO

pl

[ns]

- 1 buse+u4 [ 25
4254+ 0.0
-34.17 + 0.00

3000 -

2000 -

lo00r C = 29.26 [ps/ch]

1
50 00

TP delay

TVC(cbch) (4, 12 15

4000 [u.

[ns]

T nuiybze+ud [ 25
4222+ 0.0
p1 -34.63+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

- i glae+ud [ 25
4205+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (4, 13 4

T rnuiLzrye+u4 | 25
4214+ 0.0
-36.4+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (4,13,8

- /L bBae+ua 25
e, pD 4233+ 0.0
p1 -35.44 £ 0.00

TP delay [ns]

TVC(Cbch) (4, 13 12

- i z1oe+u4 [ 25
= po 4238+ 0.0
p1 -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

F.... po

p1

A~ 1 L abae+Ud | 25
4214+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 13 5

F- pO

-1 nui 10ze+04 / 25
4233+ 0.0
-36.59 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 13,9

[, pO

~ 1 nug pyze+ud / 25
4246+ 0.0
-36+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 13 13

Tinai14/e+u4 /25
4234+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

TP delay [ns]

TVC(Cbch) (4, 13 6

A~ 1 nuiL490e+04 | 25
F.... po 4202+ 0.0
[ p1 -35.47 £ 0.00

3000

© 1 nuiLu3be+u4 / 25
- pO 4206+ 0.0
[ p1 35+ 0.0

TP delay [ns]

TVC(ebeh)=(4, 13, 10

1000

0

T4 ze+04 [ 25
E- po 4280+ 0.0
N p1 -37.29+ 0.00

TP delay [ns]

TVC(CbCh) (4, 13 14)

e y3a3/25
-, pD 4243+ 0.0
[ pl -35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

s, po

A~ 1 nuiL,/rye+ud [ 25
4202+ 0.0
pL -34.37+ 0.00

[ C =29.09 [ps/ch]

L
50 100

TP delay

TVC(c,b Ch) (4, 13 7

= pO

[ns]

“rnui1/1e+04 /25
4219+ 0.0
p1 -35.62:+ 0.00

TP delay

TVC(eheh)=(4, 13, 11

= pO

[ns]

~ 1 nui pzze+u4 [ 25
4270+ 0.0
p1 -36.23+ 0.00

TP delay

TVC(cbch) (4, 13 15

[ns]

- 1naizuye+ud [ 25
4248+ 0.0
p1 -36.27 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

T rnwiLu4le+u4 /25
- pO 4206+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(c,b,ch)=(4, 14, 4

b, ,14,4)
. x- e’ 59a0/25
Freee po 4206+ 0.0
pl -35.92:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 14 8

Tz 145e+04 [ 25
= pO 4211+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (414,12

T rnuiLpz1e+u4 / 25
= po 4242+ 0.0
pl -35.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,14,1)

9329125
4201+ 0.0
-35.98 + 0.00

A

e, po
p1

TP delay [ns]

TVC(c, bch) (4,145

pO
pl

=1 nui uzbe+u4 [ 25
4198+ 0.0
-35.91+ 0.00

1
50 100

TP delay [ns]

TVC(c, bch) (4,14,9

e, po

T nup.3b3e+ud / 25
4233+ 0.0
-35.49 + 0.00

pl

TP delay [ns]

TVC(C, bch) (414,13

e, pO
p1

Tinaiag/e+ud [ 25
4247+ 0.0
-36.62+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (4,14,2)

- C = 28.21 [ps/ch

A7 1 nuiuzae+04 /25
e, po 4225+ 0.0
- pl -35.44 + 0.00

1
50 100

TP delay [ns]

1000

TVC(c,b,ch)=(4, 14,6) -
X- 1 nur yra1/25
- T po 4226;‘
: pl -36.28 + 0.00
r C =27.57 [ps/ch 7
% o

TP delay [ns]

TVC(cbch) (4,14, 10

1000

Tz ryre+u4 | 25
-, po 4253+ 0.0
- pl -35.56 + 0.00

TP delay [ns]

TVC(CbCh) (4, 14 14

T gre+u4 [ 25
4227+ 0.0
-35.31+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,14,3)

AT 1 nuiL148e+U4 [ 25
4231+ 0.0
pl -36.57 + 0.00

po

TP delay

TVC(c, bch) (4,14,7

= pO

[ns]

Snun10/e+04 /25
4213+ 0.0
pl -35.21+ 0.00

TP delay

TVC(c, bch) (4, 14 11

= pO

[ns]

TnuiLgs/e+u4 /25
4258+ 0.0
pl -35.87 + 0.00

TP delay

TVC(cbch) (4,14,15

[ns]

Tinuib13e+ud [ 25
4238+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 15 0)

© L oo0e+U4 / 25
4244+ 0.0
-34.69 + 0.00

C =28.83 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (4,154

- /i b5ge+04 | 25
e pO 4211+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 8

T i, r1ve+u4 / 25
= po 4223+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (4,15, 12

T i 1yse+u4 / 25
- po 4259+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,15,1)

A” 1 nuiLbbze+ud [ 25
oaee po 4229+ 0.0
p1 -34.11+ 0.00

[ C =29.32 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,155

- nui /1be+u4 / 25
F po 4220+ 0.0
pL -36.88+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

T nup.43ze+04 25
- pO 4234+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (415,13

- 1 ale+ud ] 25
po 4272+ 0.0
pl -36.61+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

TVC(CbCh) (4,15,2)

TP delay [ns]

TVC(cbch) (4,156

X~ 1w L ase+ud [ 25
_-_ po 4254+ 0.0
[ p1 -36.39+ 0.00

3000

S il 8ze+04 [ 25
- pO 4226+ 0.0
[ pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

T nug.uz3e+u4 | 25
-, po 4255+ 0.0
- pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 14

T szse+u4 [ 25
pD 4268+ 0.0
pl -35.99+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,15,3)

po 4266+ 0.0
pl -35.22+ 0.00

AT rnuiLyzse+ud [ 25

TP delay [ns]

TVC(c, bch) (4,157

pl -36.01+ 0.00

o, pO

-1 nun B38e+u4 / 25
4233+ 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11
e, po

pl -36.16 + 0.00

1 nuiL By (e+u4 [ 25
4264 £ 0.0

TP delay [ns]

TVC(cbch) (4,15,15

e po 4255+ 0.0
p1 -35.38 + 0.00

1L 4z8e+04 [ 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,0,0)

A1

uuye+u4 / 25
4204+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(cbch) (5,0,4

nu

Y80/ 25
4220+ 0.0
-35.76 + 0.00

k... pO
p1
- c N
1 1 "
50 100
TP delay [ns]
TVC(cbch) (5 0,8)
T nuiL3yre+ud / 25
- po 4229+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (5,0,12

- rnuizyz e+u4 [ 25
po 4231% 0.0
p1 -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,1)

P po

p1

A7 1 nuiLUbbe+u4 / 25
4206+ 0.0
-36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (50,5

nut

1e+04/25
4235+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(eb,oh)=(5, 0,9

== po

11ug.444e+04 | 25
4259+ 0.0
-36.89 + 0.00

TP delay [ns]

TV eh)=(5, 0,

13

Inur Zzye+ud [ 25
4230+ 0.0
-35.73+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,0,2)

. po

pl

X~ 1L OB3e+u4 [ 25
4216+ 0.0
-35.81+ 0.00

TP delay [ns]

TVC(cbch) (50,6

- 0

© i 1uge+u4 / 25
4244+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(eb,oh)=(5, 0, 10

- 1 Uiz, 165e+04 1 25
pO 4257+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(cbch) (5,0,14

T nuzgsze+u4 [ 25
pD 4226+ 0.0
pl -35.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.0,3)

= pO

pl

“rnun puze+ud [ 25
4223+ 0.0
-35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (5 0,7

- pO
p1

- nun Zzve+u4 [ 25
4244+ 0.0
-36.38 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (5, O

T 4me+u4/25
pO 4267+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (5, O 15

-z yz1e+ud [ 25
pO 4234+ 0.0
p1 -35.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 1,0)

T LAl ©8yy0 /25
[roese po 4204+ 0.0
Pl -36.32 0.00

TP delay [ns]

TVC(cbch) (51,4

Tnu 8439/25
[roese. pO 4194+ 0.0
pl -34.49 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 1,8

© i 3bze+u4 / 25
- pO 4232+ 0.0
pl -35.82. 0.00

TP delay [ns]

TVC(cbch) (51,12

TnuiLs3re+ud [ 25
- po 4212+ 0.0
-33.99 + 0.00

I C =29.42 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.1,1)

“rwa 7 gsud )25
[roee PO 4198+ 0.0
pl -35.19+ 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (5 1,5

1 nar )mul /25
I pO 4202+ 0.0
pl -33.8+ 0.0

[ C =29.58 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 1,9

~ g by4e+u4 [ 25
- pO 4243+ 0.0
pL -36.22.+ 0.00

TP delay [ns]

TVC(cbch) (51,13

o1 ibe+ud /25
- po 4228+ 0.0
pl -34.57 + 0.00

[ C =28.93 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,1,2)

TP delay [ns]

TVC(cbch) (5.1,6

X~ 1w zure+U4 /25
[Foeee, po 4224+ 0.0
F pl -36.41+ 0.00

3000

Trnu yvz1/25
- pO 4203+ 0.0
L PL_ -3252%0.00

3000

- C = 30.75 [ps/ch] ™. 1

50 10‘0
TP delay [ns]

TVC(cbch) (5, 1 10

© a2, yboe+ud / 25
=, DO 4254+ 0.0
X pl -35.02.+ 0.00

TP delay [ns]

TVC(cbch) (51,14

T z3oe+ud [ 25
- PD 4210+ 0.0
+ -33.97 + 0.00

- C = 29.44 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,3

AT 1 nuiLUrSe+U4 /25
- po 4220+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(c,b ch) (5 1,7

S 1z3e+04 [ 25
- PO 4205+ 0.0
Pl -32.830.00

[ C=30.46 [ps/ch] ™ 7]
se i
TP delay [ns]

TVC(c,b ch) (5, l

T bb4e+U4/25
= p0 4250+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(cbch) (51,15

T nui 1gbe+ud [ 25
- 4214+ 0.0
-34.47 + 0.00

[ C =29.01 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 2,0)

. X~ ©yyil/25
[, PO 4179+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (524

- i zy3e+ud [ 25
- pO 4202+ 0.0
pl -36.33 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 2,8

© i, rg4e+04 | 25
= PD 4198+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (5,2, 12

TinuiLziye+ud / 25
= PO 4221+ 0.0
pl -36.85+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (52,1

AT 1 nunLuovse+u4 [ 25
- po 4179+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,5

-1 nu 18ze+04 / 25
pO 4195+ 0.0
pL -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,9

T nun. ysse+ud [ 25
DO 4232+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (52,13

T z34e+04 [ 25
PO 4208+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (5,2,2)

X~ i1 rse+U4 /25
- po 4188+ 0.0
I pl -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (5.2,6

- rnun381e+04 / 25
- PO 4208+ 0.0
r pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 2 10

1000

©1nuizuloe+ud | 25
- DO 4242+ 0.0
r pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.2 14

1000

~ 1 nuiLu4ye+ud [ 25
==, pD 4213+ 0.0
[ pl -35.92 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,3

AT nuiL,1s2e+U4 [ 25
= PO 4205+ 0.0
p1 -36.65 + 0.00

TP delay [ns]

TVC(c,b ch) (5 2,7

-1 nui 24ve+04 / 25
= PO 4217+ 0.0
pL -35.95+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 2

T rnung bb::e+u4/25
- pO 4246 £ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(C, bch) (52,15

= T 1oze+u4 [ 25
PO 4208+ 0.0
pl -35.3+ 0.0

TP delay [ns]



TVC(cbch) (5,3,0

4000 [

3000

2000

1000

A7 1 nuis aose+u4 / 25
., po 4171+ 0.0
pl -35.02 0.00

TP delay [ns]

TVC(cbch) (53,4

4000

- i T1e+04 /25
', pO 4184+ 0.0
pl -36.15+ 0.00

3000 - 7
2000 - 7
1000~ C 7
0 EY 00
TP delay [ns]
TVC(cbch) (5.3,8)
Tnung.z4e+04 /25
4000 [, pD 4218+ 0.0
pl -36.68+ 0.00

3000

2000

1000

0

TP delay [ns]

TVC(cbch) (5,312

4000

3000

2000

1000

T rnuiL4zse+u4 | 25
4229+ 0.0
-36.81+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3, 1

AT 1 nus.zsve+ud [ 25
pee,, po 4170+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,5

-1 nui 1b0e+04 / 25
e, pO 4189+ 0.0
p1 -36.74+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 3,9

T nai 13ve+ud / 25
= po 4227+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(C, bch) (53,13

TinuiLasie+ud [ 25
- pO 4217+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000
3000
2000

1000

TVC(cbch) (5,3,2)

A7 1 nuisaae+04 / 25
i po 4191+ 0.0
[ p1 -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (53,6

1000

“rnuiLzble+u4 [ 25
- pO 4221 0.0
[ pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 3 10

1000

0

© 1 nuiz.z90e+u4 | 25
= po 4238+ 0.0
L pl -36.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,3 14

~ 1L zgse+u4 [ 25
4225+ 0.0
-37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3

AT 1 nus.oz4e+U4 1 25
- po 4189+ 0.0
p1 -34.64+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

- nui 3r4e+04 / 25
- pO 4213+ 0.0
pL -35.92:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 3

T bz4e+u4/25
- pO 4247+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (53,15

-1 nui byae+ud [ 25
4234+ 0.0
-37.1+ 0.0

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0

A7 1nun z4se+u4 [ 25
P po 4173+ 0.0
pl -35.58+ 0.00

TP delay [ns]

TVC(cbch) (54,4

T 35e+04 [ 25
e pO 4201% 0.0
p1 -36.84 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 4,8

Tz 1r3e+u4 /25
- po 4236+ 0.0
p1 -37.54+ 0.00

TP delay [ns]

TVC(cbch) (5,4, 12

T rnuiLzase+u4 | 25
= po 4214+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (54,1

AT rnunlsze+ud [ 25
. po 4171+ 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,5

=1 nui bh3e+ud [ 25
pO 4214+ 0.0
pL -37.71% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5 4,9

~ 1 nub.yyse+ud / 25
po 4250+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(C, bch) (54,13

T nai zzoe+ud | 25
pO 4227+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,4,2)

TP delay [ns]

TVC(cbch) (54,6

1000

A7 1 nuisuze+u4 /25
__- po 4199+ 0.0
L pl -35.61+ 0.00

3000

-1 nur byye+ud / 25
- pO 4215+ 0.0
[ pl -37.59+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 4 10

1000

- b

T z.3e+04 /25
4257+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (54,14

TrnuiLas1e+u4 /25
. pD 4219+ 0.0
L -34.43+ 0.00

- C = 29.05 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3

AT 1L 4zse+ud [ 25
P po 4204+ 0.0
p1 -36.43 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

S nuan 1/ re+u4 | 25
- pO 4212+ 0.0
pL -36.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 4

T a/be+u4/25
= pO 4264+ 0.0
p1 -37.41+ 0.00

TP delay [ns]

TVC(C, bch) (54,15

- rnar )5540 125
- pO 4219+ 0.0
pl -35.1+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

X1 na )5042 125
B po 4183+ 0.0
pl  -36.3:0.0

TP delay [ns]

TVC(cbch) (55,4

T L0 r3e+u4 / 25
- pO 4186+ 0.0
p1 -36.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 58

T g 3rge+u4 [ 25
= po 4238+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (55,12

©rnuiLugse+u4 / 25
= po 4229+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5, 1

AT 1 nuLusse+ud [ 25
- po 4190+ 0.0
pl -37.83+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

-1 nui 145e+04 / 25
- pO 4191% 0.0
pL -36.87+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

T nue.yzse+ud [ 25
- pO 4264+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(C, bch) (55,13

Tonan L use+ud [ 25
= pO 4228+ 0.0
pl -34.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (5,5,2)

S yo/6/25
o pO 4203+ 0.0
L pl -36.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

- i 383e+04 / 25
- pO 4202+ 0.0
[ pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

© 1z 148e+04 / 25
-, po 4269+ 0.0
F pl -36.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T zzoe+u4 [ 25
4241+ 0.0
-35.91+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3)

S Tyl 25
o=, pO 4209+ 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nui by3e+u4 / 25
e, pO 4206+ 0.0
pL -36.06+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 5

T szue+u4/25
- po 4265+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

Tonanane+ud /25
= pO 4230+ 0.0
p1 -34.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,0

A7 1nui 1sae+04 /25
. po 4181+ 0.0
pl -37.53+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (56,4

T ro/e+04 [ 25
- pO 4196+ 0.0
p1 -37.04+ 0.00

[ C=27.00[ps/c ]
5(‘) 100 =
TP delay [ns]
TVC(c,b ch) (5 6,8

1 nuiLyyge+u4 / 25
po 4217+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (5,6,12

T syze+u4 | 25
pO 4233+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.6,1)

T 113e+ud /25
F . pO 4197+ 0.0
p1 -38.2+ 0.0

C=26.18 [ps/c ]

1 Ty
50 00

TP delay [ns]

TVC(c,b ch) (5 6,5

- UL 680e+U4 | 25
™, DU 4188+ 0.0
pl -36.99+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,9

-1 nuy.uzge+ud 25
- pO 4224+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(C, bch) (5.6,13

T inai s3ve+ud / 25
- pO 4221+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (5,6,2)

F - PO

X~ 1w ziie+ud [ 25
4210+ 0.0
-38.26 + 0.00

pl

TP delay [ns]
TVC(cbch) (5 6,6

pO
p1

- Ui Bo3e+ud / 25
4196+ 0.0
-36.99 + 0.00

TP delay [ns]

TVC(cbch) (5, 6 10

1 nugboae+u4 [ 25
4242+ 0.0
-36.7 + 0.0

TP delay [ns]

TVC(cbch) (56,14

~ i zove+ud [ 25
4211+ 0.0
-35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,3

AT rnuiL1sie+ud /25
P po 4214+ 0.0
pl -37.7+ 0.0

[ C=26.53 [ps/c ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 6,7

-1 nui bzae+u4 [ 25
- pO 4205+ 0.0
pL -36.29+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 6

T, /4be+u4/25
- pO 4245+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (5.6, 15

T nai1roe+ud /25
po 4229+ 0.0
p1 -35.87+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

X~ 1Ll roe+U4 /25
- PO 4199+ 0.0
pl -36.18+ 0.00

TP delay [ns]

TVC(cbch) (57,4

- i 135e+04 / 25
[, pO 4211+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (5 7,8

T rnug.b1ge+u4 / 25
- PD 4225+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (57,12

- Zoe+ud [ 25
- PO 4249+ 0.0
pl -35.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

AT 1nuiLZroe+ud [ 25
[, PO 4212+ 0.0
pl -36.12:+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna 1215125
- DU 4212+ 0.1
Pl -36.130.00

TP delay [ns]

TVC(c,b ch) (5 7,9

T nup g1e+u4 / 25
4256+ 0.0
-36.3+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (5.7,13

T s14e+04 /25
= pO 4253+ 0.0
pl -36.12 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000
3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1w zioe+U4 /25
- po 4205 0.0
3 Pl -36.18 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

-1 3p9e+u4 / 25
- pO 4219+ 0.0
I pl -36.22:+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 7 10

1000

© 1 nubbae+u4 [ 25
- DO 4253+ 0.0
I pl -35.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

“nuig 144e+04 [ 25
PD 4253+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

A7 1 nuiLZuoe+u4 [ 25
. po 4224+ 0.0
pL -36.28:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

- nui 2y/e+u4 [ 25
- PO 4230+ 0.0
Pl -35.17:0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRR a/ze+u4/25
- pO 4255+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(C, bch) (5.7,15

T 14/e+04 /25
- pO 4254+ 0.0
pl -35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,0)
T A

u T 5309/25
po 4212+ 0.0
pL -34.99  0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 4

S C s132/25
po 4193+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 8

S rnun 3oze+u4 [ 25
po 4222+ 0.0
pl -35.81+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 12

1 i 140e+04 [ 25
po 4263+ 0.0
p1 -35.49 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,1)
T A

ST ws09/25
e, po 4196+ 0.0
pL -34.95 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 5

S 9366 / 25
== po 4196+ 0.0
pl -36.16 + 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 9

- nuig o8e+u4 [ 25
= po 4251+ 0.0
pL -36.74.+ 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 13

- L zbae+Ud [ 25
- po 4267+ 0.0
p1 -36.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

:

1000;' C =27.98 [ps/ch . ‘
; .

4000

3000

2000

1000

TVC(c,b,ch)=(5, 8, 2)
T X

- C = 28.31 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 6

S 7 w13/ 25
- po 4200+ 0.0
[ p1 -35.32 0.00

T a1 u3e+u4 /25
e po 4220+ 0.0
[ p1 355+ 0.0

- C =28.17 [ps/ch

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 10

1 1L p35e+u4 / 25

- po 4263+ 0.0
[ pL -35.74+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 14

SruaeC w016/25
- po 4248+ 0.0
[ pl -34.45+ 0.00

- C = 29.02 [ps/ch]

P B |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 8, 3)
T A

S 7943725
po 4228+ 0.0
pL -36.21+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 7
T X

-rnar - vrs0/25

= pO

E 4215+ 0.0
pl__ -351:0.0

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 11

- /N 3y3e+Ud | 25
B po 4275+ 0.0
pL -36.67 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 15

- 1L USbe+U4 | 25
Fome po 4239+ 0.0
pL -34.86+ 0.00

TP delay [ns]



TVC(c,b,ch)=(5, 9, 0) TVC(Ebe)=(5,9,1) TVC(ehe)=(5,9,2) TVC(ebe)=(5,9,3)
LAl 8392125 AL w48 /25 T Yob3 /25 AT 1 nuiLULbe+U4 / 25
4000 ' 4229+ 0.0 4000 [, pO 4228+ 0.0 4000 fme, pO 4232+ 0.0 4000 fe po 4252+ 0.0
-36.51+ 0.00 Pl -36.64 0.00 [ Pl -36.83 0.00 Pl -37.09+ 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

50 oo 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.9,4) TVC(cbch) (5.9.5) TVC(cbch) (5.9,6) TVC(cbch) (5.9.7)

- 1L Ub4e+u4 / 25 ~nui1/0e+04 / 25 - nun333e+04 / 25 -1 nui 420e+04 / 25
4000 e pO 42141 00 4000 pO 4222+ 0.0 4000 fe, pO 4243+ 0.0 4000 e, pO 4250+ 0.0
pl -36.43+ 0.00 pL -35.96 + 0.00 3 pl -37.31+ 0.00 pL -37.16+ 0.00

3000 [ B 3000 — 3000 — — 3000 B

2000~ B 2000 E 2000 — — 2000 [ e

1000 C - 1000 - 1000:— C =26.80 [pS/C — 1000 C -

0 EY o 0 EY 0 = 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.9,8) TVC(c,b ch) (5.9,9) TVC(c,b, ch) (5,9,10) TVC(c,b ch) (59,11)

©rnu 19ze+04 / 25 -1 nun guse+u4 [ 25 ©1nuz, 105e+04 / 25 T gzbe+u4 [ 25
4000 pO 4219+ 0.0 4000 4239+ 0.0 4000 o DO 4240+ 0.0 4000 o, p0 4248+ 0.0
pl -34.92:+ 0.00 34.4% 0.0 L pl -33.59+ 0.00 pL -34.43 0.00

3000 B 3000 - 3000 ] 3000 E

2000 ] 2000 E 2000 [ ] 2000 - B

1000 ] ol C = 29.07 [ps/ch] ™, ] 1°°°:'C =29.77 [pslch] . _ wof C = 29,05 [ps/ch] ™, 1]

1 1 - [ 1 1 -] 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)

T inuiLulye+ud / 25 T 1 13e+u4 /25 ~ 1 nuiLu40e+u4 / 25 T usoe+u4 / 25
4000 pO 4244+ 0.0 4000 e, pO 4245 0.0 4000 . 4228+ 0.0 4000 o, pO 4248+ 0.0
pl -35.82+ 0.00 pl -36.08 + 0.00 r -34.06 + 0.00 pl -35.37+ 0.00

3000 e 3000 1 3000 ] 3000 E

2000 E 2000 — 2000 ] 2000 E

1000 E 1000 — r 1 ]

wor- C = 29.36 [ps/ch] ™, 1000
. ey ]
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10,0)
T A

w " yry5/25
PO 4159+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 4

a Y658 / 25
PO 4211+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 8

T 1nug.bi4e+04 /25
Po 4219+ 0.0
pl -36.26 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 12

-1 15e+04 [ 25
po 4247+ 0.0
pl -36.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 1)
T A

S y1a7/25
PO 4185+ 0.0
pl -35.01+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 5

-1 nuiLu3le+u4d / 25
po 4205+ 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 9

a5 4e+04 /25
po 4240+ 0.0
pl -36.28 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 13

T 1ioe+u4 [ 25
PO 4256+ 0.0
pl -35.9 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 2)
T A

we " yyr3/25
- po 4179+ 0.0
r pl -34.78 + 0.00

- C = 28.75 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 6

- 1 nuiLuoge+u4 / 25
- po 4227+ 0.0
3 pl -36.43+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 10

© 1z, zgbe+u4 | 25
- po 4265+ 0.0
r pl -37.13+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 14 )

- i 1iZe+ud [ 25
F PO 4250+ 0.0
F pl -36.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 3)
T A

S yyy5/25
PO 4185+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 7

X- 1 i 20se+04 25
po 4232+ 0.0
pL -35.59 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 11

Tonuis/1e+u4 /25
po 4258+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 15

T uase+u4 [ 25
po 4229+ 0.0
pl -35.56 + 0.00

P IR S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 11,0)

' x-rwasaad |25
. po 4165+ 0.0
-33.64  0.00

[ C=29.72 [ps/ch]

| 1
50 100

TP delay [ns]

TVC(cbch) (511,4

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

wu Yr34/25

5 po 4225+ 0.0
pl -35.37 + 0.00

-
-
-
-
|

T z.40e+04 /25
- pO 4224+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X1 1zze+04 /25
= po 4237+ 0.0
pl -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5, ;I.l 1)

s

- PO

p1

-3.

vu28 /25
4179+ 0.0
3.51+ 0.00

[ C =29.84 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5115

F- pO

[ns]

- 1L uUYe+U4 / 25
4217+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (5, 11 9

e, po

[ns]

T nugnz1e+ud /25
4243+ 0.0
pl -35.27 + 0.00

TP delay

TVC(cbch) (511,13

= po

[ns]

T inaiuzze+ud [ 25
4235+ 0.0
pl -36.59 + 0.00

TP delay

[ns]

TVC(cbch) (5 11,2

ar

)

4000’ pO
3000
2000

wol C = 30.07 [ps/ch] .

BUI1/25
4186+ 0.0
pl -33.25+ 0.00

1
50 100

TP delay

TVC(cbch) (5 11,6

4000 e, pO

p1

[ns]

T rnuiL 1/ /e+04 /25
4237+ 0.0
-36.75+ 0.00

3000~

2000~

wol C = 27.21 [ps/ch

TP delay

TVC(cbch) (5, 11 10

T L/ r4e+04 [ 25
4248+ 0.0
p1 -34.88+ 0.00

4000 [

pO

[ns]

3000
2000

1000

TP delay

TVC(cbch) (5,11, 14

4000 [

[ns]

X- 1 141e+04 /25
po 4226+ 0.0
pl -35.32+ 0.00

3000
2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

X~/ nar

pl

5833/25
pO 4185+ 0.0
-33.2+ 0.0

[ C=30.12 [ps/ch] > 7
8 .
TP delay [ns]

TVC(cbch) (511,7

- pO

-1 nui 4uze+u4 / 25
4250+ 0.0
pl -36.38 + 0.00

50 1(;0
TP delay

TVC(cbch) (511,11

e pO

[ns]

1 nuiL zgoe+u4 25
4251+ 0.0
pl -35.64 + 0.00

TP delay

TVC(cbch) (511,15

e, po

[ns]

T nuiLuige+ud / 25
4224+ 0.0
p1 -35.25+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(c,b,ch)=(5, 12,0)

; Ko T yrs4/25
[, PO 4183 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(cbch) (5.12,4

- 1L z30e+u4 / 25
[, PO 4202+ 0.0
pl -36.73+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 12 8

1 nuiLb3ve+u4 / 25
= PD 4200+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(cbch) (512,12

TinuiLiuie+ud / 25
PO 4214+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,12,1)

x- 1 i 154e+U4 | 25
[, po 4218+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (5,125

- Hulidde+04/25
- DU 4206+ 0.0
pL -36.22.+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 9

“ o g.4ze+04 1 25
= DO 4214+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (5,12,13

— ’rHUuUHe+\)4125
F= po 4196+ 0.0
pl -35.43 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(cbch) (5,12,2)

- C = 29.43 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

-1 nurg 3o9e+04 / 25
- PO 4208+ 0.0
I pl -36.14 + 0.00

X~ 1L uure+u4 /25
== po 4193 0.0
3 pl -33.98:+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

© 1 nuiLysde+ud | 25
DO 4241+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

T z4ze+04 [ 25
PD 4200+ 0.0
pl -35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,12,3)

AT 1nuiLUrZe+u4 [ 25
- PO 4195 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c, bch) (5,127

- Hulizbe+04/25
= PO 4219+ 0.0
pL -36.51+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (512,11

T nuib1Ye+u4 /25
- pO 4236+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (512,15

= T nai zuze+ud [ 25
PO 4204+ 0.0
-35.26 + 0.00

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

T L ze+ud /25
o, pO 4290+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 13, 4

4000

3000

2000

1000

b, .13, 4)
: X-rnu gys8/25
Facse pO 4228+ 0.0
pl -36.23+ 0.00

50 10‘0
TP delay [ns]

TVC(c,b,ch)=(5, 13, 8

4000

3000

2000

1000

b, ,13,8)
T X7 8016 /25
e, Po 4269+ 0.0
-34.15+ 0.00

[ C =29.29 [ps/ch] .

0

1
50 100

TP delay [ns]

TVC(cbch) (513,12

4000

3000

2000

1000

© 1L zyse+u4 | 25
- po 4235+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1 nuiL, ru4e+u4 [ 25
e po 4282+ 0.0
pl -37.04 % 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

-1 i uyBe+u4 / 25
[, pO 4217+ 0.0
pL -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

Tinug1/1e+u4 /25
- pO 4304+ 0.0
-35.8 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (513,13

-1 nuiLuyoe+ud / 25
- pO 4238+ 0.0
pl -35.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

Tanun g b4)e+u4/25
4000 [, DO 4317+ 0.0
: pl -35.23+ 0.00
3000 -— N
2000 -— _-
w00~ C = 28.39 [ps/ch] 7
-
- -
_
1 1
0 50 100

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

[ease po

A~ 1nuiLyg1e+04 /25
4297+ 0.0

TP delay [ns]

TVC(cbch) (5.13,6

pl -37.46 + 0.00

- i zie+ud [ 25
pO 4247+ 0.0
pl -37.08 + 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

TP delay [ns]

TVC(cbch) (5.13, 14

- p"

1 nun g 10e+ud [ 25

pl -35.38+ 0.00

4244+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

po 4308+ 0.0
p1 -36.64 + 0.00

AT rnuiLorye+ud [ 25

TP delay [ns]

TVC(c, bch) (5,137

o=, pO
pl

]

-1 nui zgle+u4d / 25
4259+ 0.0
-37.18+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 11)

ut 5712/25
pl -35.08 + 0.00

- pO

4319+ 0.0

[ C =28.50 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

= po

2]

T nai s18e+ud [ 25
4251+ 0.0
-35.41+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T rnuizuroe+u4 [ 25
P oeea. pO 4239+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (5.14,4

T U8 /e+ud / 25
pO 4244+ 0.0
pl -36.06+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T nuzg33e+u4 | 25
- pO 4204+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (514,12

T rnuiLsure+u4 /25
- po 4284+ 0.0
pl -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

AT 1nuz1b/e+ud [ 25
o, po 4233+ 0.0
pl -35.48 + 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

- nuiulze+ud / 25
- pO 4255+ 0.0
pL -36.81% 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (5, 14 9

T nu, 739e+u4 / 25
= po 4236+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(cbch) (5.14,13

T inui 1oge+ud [ 25
- pO 4270+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

:

:

1000;- C =28.85 [ps/ch] - ‘
| o+ s

4000

3000
2000

1000

TVC(CbCh) (5,14,2)

K™ 1nuzozie+u4 /25
_- po 4242+ 0.0
[ p1 -35.47 + 0.00

- C =28.19 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

© 1L z44e+04 | 25
- pO 4249+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

Tz 1z3e+04 [ 25
= po 4237+ 0.0
L pl -34.67 + 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

T3 re+u4 [ 25
- pD 4260+ 0.0
L pl -36.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

[ C =28.80 [ps/ch]

AT 1z zose+ud | 25
e po 4234+ 0.0
p1 -34.72+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,14, 7

S nun1.35e+04 [ 25
- pO 4276+ 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(cbch) (5,14, 11

T inuizyLie+ud / 25
= po 4237+ 0.0
p1 -34.63+ 0.00

[ C =28.87 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (514,15

T nuias0e+u4 [ 25
- pO 4263+ 0.0
p1 -35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

1w zrze+U4 [ 25

po 4198+ 0.0
pL -36.96 + 0.00

TP delay [ns]

TVC(Cbch) (5, 15 4

T lo/e+u4 / 25

= po 4195+ 0.0
pl -35.66 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 15 8

121 74e+04 [ 25

= pD 4221+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 12

Tz, 1s4e+04 | 25
4223+ 0.0
-34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

A1 L alae+Ud ] 25

F. po 4184+ 0.0
pL -36.26  0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 5

-1 nui 13%e+04 / 25
pO 4205+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

<1 nu.459e+u4 | 25
4245+ 0.0
-37.1+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 15 13

T nuiz suze+ud | 25
- pO 4224+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (5,15,2)

X~ 1 1L 59pe+u4 [ 25

TP delay [ns]

TVC(Cbch) (5, 15 6

F.... po 4209+ 0.0
L pl -36.52+ 0.00

3000

T 131e+04 /25
- pO 4217+ 0.0
- pl -36.68 + 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 15, 10

1 nuiL gbbe+ud / 25

__— pO 4244+ 0.0
L pl -36.46 + 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

- 1L ysse+u4 [ 25
-, pD 4232+ 0.0
L p1 -37.42:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

A~ 1 nuiL49oe+u4 [ 25

po 4211£ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 7

= nui 331e+04 / 25
= po 4213+ 0.0
p1 -35.77 + 0.00

50 160
TP delay [ns]

TVC(e.beh)=(5, 15, 11

T inuiL4oe+04 /25
= pO 4253+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

- i yuze+ud [ 25
== pO 4220+ 0.0
p1 -35.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

AT nun szse+04 /25
P s po 4149+ 0.0
pl -33.9+ 0.0

[ C =29.50 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (60,4

- 283e+04 | 25
o, pO 4169+ 0.0
pl -33.85+ 0.00

[ C =29.54 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T g zzze+04 | 25
[oese PD 4177+ 0.0
pl -35.84 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

T rnuiLyrse+ud | 25
= po 4206+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

A1 L4z (e+U4 ] 25
e po 4164 + 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

~ 1 nui /45e+04 [ 25
P pO 4179+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 0,9

T nuy.g4ve+u4 / 25
E po 4196+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,13

T 1 naiL guse+ud / 25
4201+ 0.0
-35.51+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,0,2)

A7 1 nuiouse+u4 /25
Freee po 4169+ 0.0
o pl -34.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,0,6

- 2 3se+ud | 25
Freee, pO 4195+ 0.0
L pl -35.58 + 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (6, 0 10

~ 1 nuip.Z1pe+u4 | 25
po 4214+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (6,0,14

~1nuizuzve+ud | 25
pD 4197+ 0.0
pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1L ose+ud [ 25
Facee po 4184+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nuz.ugle+usd / 25
o, pO 4203+ 0.0
pL -34.63+ 0.00

[ C =28.88 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T g, 419e+u4/25
£ po 4219+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

-1 nui ysye+ud [ 25
po 4212+ 0.0
p1 -35.8+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A7 nui 1sye+ud / 25
po 4174+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- 1nuz 149e+04 / 25
4176+ 0.0
-34.1+ 0.0

C =29.33 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (6 1,8

1L pyze+u4 | 25
PD 4198+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (61,12

T 3ye+ud /25
pO 4197+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1 nuiLzooe+ud [ 25
e, po 4194+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 nu 1bYe+u4 / 25
pO 4160 0.0
p1 -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nuw.puze+ud / 25
= po 4230+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(cbch) (61,13

Tinai s1ze+ud [ 25
= pO 4192+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,1,2)

A7 1 nui suae+u4 /25
e, po 4209+ 0.0
L pl -37.79+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

S rnuzure+ud [ 25
- pO 4196+ 0.0
[ pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

1000

Tz pz3e+u4 | 25
- po 4243+ 0.0
F pl -35.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T ssse+u4 [ 25
-, pD 4190+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

AT rnuiLsrse+ud [ 25
po 4194+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- 1nuz.03ze+u4 / 25
- pO 4189+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T au/e+u4/25
- po 4253+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (6,1, 15

x-roa Cys1/25
po 4197+ 0.0
pL -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

K™ 1nuiLoyre+ud /25
- po 4198+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (62,4

- i 833e+04 / 25
e pO 4214+ 0.0
pl -35.79 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

1 nuiLgy4e+04 / 25
- po 4220+ 0.0
pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

1 nuiLyooe+u4 / 25
= po 4212+ 0.0
pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

x- 1 i Suae+ud | 25
s po 4209+ 0.0
pL -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

-1 nui ba3e+u4d / 25
[Fomes, pO 4219+ 0.0
pL -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

~ 1 nai 3yse+ud 25
- po 4263+ 0.0
pl -36.92 + 0.00

TP delay [ns]

TVC(C, bch) (6,213

T nui ogse+ud / 25
- pO 4237+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

| 1
50 100

TP delay [ns]

TVC(cbch) (62,6

XL se+u4 /25
Fuue po 4207+ 0.0
o pl -35.29+ 0.00

- nuiB11e+u4 / 25
- pO 4235+ 0.0
[ pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (6, 2 10

Tz, ryse+ud | 25
__ DO 4263+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (6,2 14

T Lose+ud /25
. pD 4224+ 0.0
L pl -35.24.+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

AT rnuiLbroe+ud [ 25
po 4211+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

- nui /45e+04 / 25
- pO 4248+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 2

EEALEVX uuue+u4/25
- po 4276+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T nui ozse+ud [ 25
= po 4243+ 0.0
p1 -35.64 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

S Lzze+0d [ 25
v PO 4197+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (63,4

- 1 nuiLbube+ud / 25
ease pO 4229+ 0.0
pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1 nuiL1sbe+u4 [ 25
Fomee, PO 4202+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

- nun bz /e+u4 [ 25
pO 4232+ 0.0
pL -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,3,2)

AT 1nun ssze+04 /25
e, po 4214+ 0.0
- pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

- i b3ge+ud / 25
- pO 4236+ 0.0
3 pl -36.05 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1nuiLzrze+u4 | 25
- po 4217+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

S nui /1/e+04 /25
- PO 4247+ 0.0
pL -35.67+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

© 1 nuiLysoe+ud / 25 Ty 38e+u4 [ 25 © 1 nuzobge+ud / 25 T, 1U/e+u4/25
4000 fome, pO 4235+ 0.0 4000 fme pO 4253+ 0.0 4000 fome, DO 4282+ 0.0 4000 fes p0 4262+ 0.0
pl 3589 0.00 Pl -35.380.00 L PL_ -35.82% 0.00 Pl 3562+ 0.00

3000

T 3000 - 3000 - 3000

2000 T 2000 - 2000 -1 2000

1000 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,3 12 TVC(C, bch) (63,13 TVC(cbch) (6,3 14 TVC(C, bch) (63,15

T L 1oe+u4 / 25 1 nuiL pbze+ud / 25 Ty e+u4 [ 25 -1 nui puse+ud / 25
PO 4236+ 0.0 4000 s PO 4223+ 0.0 4000, PD 4225+ 0.0 4000 [, pO 4242+ 00
pl -35.64 + 0.00 pl -34.99+ 0.00 r pl -36.05+ 0.00 pl -36.29+ 0.00

= 3000

4000

3000 .

1 3000 [~ N 3000

2000 - 2000 - 2000 =1 2000

1000 1 1000

] 1000 - 1000[-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

K™ 1 nui tove+ud / 25
.. po 4197+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (6.4,4

s rna 8505 /25
.. po 4186+ 0.0
pl -34.03 + 0.00

[ C =29.39 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

©1nuiLYose+u4 / 25
= po 4189+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (64,12

~rnuiLusve+u4 / 25
= po 4221+ 0.0
pl -33.52+ 0.00

[ C =29.83[ps/ch] .

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

x- 1 i Qyae+ud | 25
P, po 4177+ 0.0
pL -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui Uz3e+u4 [ 25
e pO 4185+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nug1z3e+u4 [ 25
= po 4209+ 0.0
pl -35.13 + 0.00

TP delay [ns]

TVC(C, bch) (64,13

T naiuzae+ud [ 25
= pO 4220+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

AT 1nunzsse+ud /25
_- po 4191+ 0.0
o pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- nuLoule+ud / 25
e pO 4189+ 0.0
[ pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

1000

© 1 nuiLUlbe+ud / 25
__ DO 4241+ 0.0
L pl -34.77 + 0.00

TP delay [ns]

TVC(cbch) (64,14

T 1sse+u4 / 25
- pD 4228+ 0.0
L -33.61+ 0.00

- C = 29.75 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1L usoe+u4 [ 25
.. po 4206+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nun Z3be+u4 / 25
- pO 4200+ 0.0
p1 -34.78+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 6, 4, 11

4225+ 0.1

b, ,4,11)
i X~ 1086725
-33.78+ 0.00

[ C=29.60 [ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T nuiusze+ud [ 25
= 4224+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1L usie+U4 /25
e PO 4203+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.40 [ps/ch]

- g1 re+04 [ 25
e pO 4197+ 0.0
pl -34.01+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

- o 1 gbe+ud / 25
- PD 4216+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (65,12

T, (Use+u4 / 25
- PO 4227+ 0.0
pl -35.52 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51)

- Luve+ud 25
o, pO 4213+ 0.0
pl -35.55 + 0.00

TP delay [ns]
TVC(cbch) (6,5,5) -
'rHUldlhE+U4 25
- 41943‘
-33.82+ 0.00
[ C=29.57 [ps/ch] ™, ]
% i
TP delay [ns]

TVC(c,b ch) (6 59

~ 1 nai. r8oe+u4 25
DO 4214+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T osle+u4 / 25
pO 4250+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,52)

X~ 1w 1ose+U4 /25
[, po 4225+ 0.0
L pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

- C = 29.47 [psich]

T g 3z3e+04 [ 25
- pO 4208+ 0.0
L pl -33.94 + 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T 1nug z35e+04 [ 25
- DO 4242+ 0.0
I pl -35.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

- Loz re+04 ] 25
- PD 4222+ 0.0
I pl -34.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1nuiL1o1e+u4 /25
- PO 4211+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

- g zave+ud [ 25
- PO 4210+ 0.0
Pl -34.86% 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

Tz ::e+u4/25
- pO 4248+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T nui bzoe+ud [ 25
4236+ 0.0
-35.91+ 0.00

TP delay [ns]



TVC(c,b Ch) (6,6,0) TVC(c,b Ch) (6,6,1) TVC(c,b Ch) (6,6,2) TVC(c,b Ch) (6,6,3)
K~ 1 Lae+0a ] 25 %1l ierud ] 25 X~ Lszer0a ] 25 xS re+ud ] 25
4000, po 4196+ 0.0 4000, po 4206+ 0.0 4000, po 4202+ 0.0 4000 =, po 4214% 0.0
pL -35.3% 0.0 pl_ -35.71%0.00 [ Pl -35.38+ 0.00 pl -35.3+ 0.0
3000 - 3000 - 3000 ] 3000 [ —
2000 _ 2000 E 2000F b

=1 2000

1 wol C = 28.26 [ps/ch ] wof C = 28,33 [ps/ch

1000 E 1000 ]
1 1 1 1 - 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (6 6,4) TVC(c,b Ch) (6, 6 ) TVC(c,b Ch) (6 6,6) TVC(c,b Ch) (6 6,7)
Srnan 11e+04 /25 - nun 3z2/e+04 [ 25 T rnun 1 38e+u4 [ 25 -1 nun 38ze+u4 / 25
A000FL, pO 4182+ 0.0 4000, pO 4207+ 0.0 4000, pO 4195+ 0.0 4000 o, pO 4207+ 0.0
Pl -34.93: 0.00 pl_ -36.17+0.00 3 Pl -35.32%0.00 Pl -35.750.00
3000~ - 3000 - 3000 _ . _ 3000 —
2000 ] 2000 g 2000 ] 2000 4
wof C 1 1000 ] wnf C = 28.31 [ps/ch . wop € 1
1 1 - 1 1 - 1 -
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(6,6,8) TVC(ebeh)=(6,6,9) TVC(eb,ch)=(6, 6, 10) TVC(eb,e=(6,6, 11)
T i zsye+ud [ 25 T z213e+U5 / 25 T 1nug,sz4e+04 [ 25 - a2 ysbe+u4 / 25
4000 pO 4219+ 0.0 4000 e, pO 4250+ 0.0 4000 [, DO 4261+ 0.0 4000 e p0 4257+ 0.0
Pl 3549 0.00 -34.8 % 0.0 [ PL_ -35.81% 0.00 Pl -35.02: 0.00

3000 N 3000 |- - 3000 1 3000

2000 2000 |- - 2000 2000

1000 1000

1000

100 C = 28.73 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(6612) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
Tonu L s1e+u4 /25 T 1 o1e+u4 /25 T nuiLsuLe+u4 / 25 T 1w zabe+u4 [ 25
4000 [ pO 4234+ 0.0 4000 s pO 4226+ 0.0 4000 [, PD 4223+ 0.0 4000 e, pO 4237+ 00
pl -35.64 + 0.00 pl -35.53+ 0.00 r pl -35.36 + 0.00 pl -36.02+ 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

AT 1nui1yre+ud /25
- po 4187+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(cbch) (67,4

T rnuiL431e+u4 / 25
pO 4199+ 0.0
p1 -34.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

Trnug131e+u4 / 25
- po 4208+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

T/ r4e+04 / 25
= po 4254+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT 1 nunLzsie+ud [ 25
s po 4210+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nui 4oze+04 [ 25
E pO 4211+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

-1 nuiL yyse+us / 25
= pO 4227+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (67,13

T nuiL p3be+ud / 25
= pO 4248+ 0.0
pl -36.99 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

K™ 1 nui449e+04 /25
e, po 4216+ 0.0
o pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

1000

-1 i bose+u4 / 25
- pO 4219+ 0.0
[ pl -34.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

1 nuiLgUbe+U4 / 25
o=, po 4250+ 0.0
o pl -36.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (67,14

1000

~ L b3pe+u4 / 25
. pD 4252+ 0.0
L pl -36.3+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.7,3)

“nun Lgbe+ud [ 25
- pO 4216+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

=1 Ui bbbe+u4 / 25
4218+ 0.0
-34.4 % 0.0

[ C =29.07 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

T auue+u4/25
= po 4260+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(C, bch) (67,15

-1 nuipuze+ud / 25
= pO 4261+ 0.0
p1 -36.54 + 0.00

TP delay [ns]



TVC(cbch)(680) TVC(cbch)(681 TVC(cbch)(682) TVC(cbch)(683)

A” 11w bo4e+ud [ 25 AT g u)zzeﬂ)A/ZS AT 1L 419e+04 [ 25 “rnun g pye+ud / 25
4000, LY 4182+ 0.0 a00E, po 4180+ 0.0 4000k, po 4203+ 0.0 4000 po 4207+ 0.0
pl -34.74 £ 0.00 pl -34.58+ 0.00 - pl -34.88+ 0.00 pl -35.58+ 0.00
I 1 -
3000 1 3000 -1 3000 [~ — 3000 - B
2000 — 2000 - 2000F ] 2000 [ —
o ] 100 ] 1o C = 28.67 [ps/chly, wooF ;
1 1 1 1 -] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.8.4) TVC(cbch) (6.85) TVC(cbch) (6.8,6) TVC(cbch) (6.8,7)
- a1 roe+04/ 25 - /UL 56ue+U4 | 25 - Lbbe+ud / 25 - oL 825e+04 25
4000 [y pO 4268+ 0.0 4000, pO 42512 0.0 4000 fm, pO 4263+ 0.0 4000 o=, pO 4282+ 0.0
pl -38.67 + 0.00 pl -37.51+ 0.00 I pl -38+ 0.0 pl -37.74+ 0.00
3000 - 3000 [ - 3000 ] 3000 [ 9
2000 E 2000 [ - 2000 3 2000 [ E
1000 E 1000 C - 1000 C=26.31 [pS/C ] 1000 C E
0 0 5 T 0 EY 0 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,8,8) TVC(c,b ch) (6.8,9) TVC(c,b, ch) (6,8,10) TVC(c,b ch) (6,8,11)
© 1 nuiLug4e+u4 / 25 - 1. bgge+u4 [ 25 T nu, sZoe+u4 [ 25 T 441e+04 /25
4000 e pO 4212+ 0.0 4000 [ pO 4221% 0.0 4000 e pO 4254+ 0.0 4000 jum, pO 4259+ 0.0
pl -34.94 + 0.00 pL -34.47  0.00 3 pl -35.17 + 0.00 pL -34.91+ 0.00
3000 B 3000 [ - a000f ] 3000 E
2000 N 2000 [~ - 2000 i ] 2000 B
1000 — 000 C = 29.01 [pS/Ch] - 1000 7] 1000 T
| = L
50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(681 ) TVC(cbch)(6813) TVC(cbch)(681 ) TVC(cbch)(6815)
~1nuiLu4oe+u4 / 25 T 1u4e+u4 [ 25 TnuiLu4/e+u4 [ 25 T 1ige+ud [ 25
4000 pO 4222+ 0.0 4000 e, pO 4233+ 0.0 4000 PD 4221 0.0 4000 B pO 4231% 0.0
pl -35.66+ 0.00 pl -35.89+ 0.00 L pl -34.55 + 0.00 pl -35+ 0.0

3000 -1 3000 N 3000 -1 3000 - T

2000 1 2000

2000 - 2000 =

1000 -1 1000 1000 - 1000 F

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

A” 1L 440e+04 / 25
¥ po 4214+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (69,4

-1 4bae+04 25
pO 4237+ 0.0
pl -35.05+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

- rnuz311e+ud | 25
- pD 42213 0.0
pl -34.96+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

[ C =29.43 [ps/ch]

T r1e+04 /25
= po 4238+ 0.0
pl -33.98 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1)

X~ rnu 1se+ud /25
- po 4219+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

=1 nui 4nbe+04 / 25
4250+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

T nu no3e+ud /25
po 4232+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,13

~ 1 nuiLuyve+ud / 25
pO 4234+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (6,9,2)

A7 1 nuiLbsye+ud /25
po 4237+ 0.0
p1 -37.54+ 0.00

1000

50 100
TP delay [ns]
TVC(cbch) (6 9,6)
~ Ui 485e+04 [ 25
- pO 4259+ 0.0
[ pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (6, 9 10

1 nuiz.yuge+ud | 25
po 4260+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

T siie+ud /25
DD 4248+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

AT 1L r1se+ud [ 25
po 4242+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

- nui by e+u4 [ 25
pO 4275+ 0.0
-36.6 + 0.0

TVC(c,b ch) (6, 9

50 1(;0
TP delay [ns]

T asze+u4/25
po 4271+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,15

T naiuzze+ud [ 25
po 4257+ 0.0
pl -36.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

© i 1uve+ud / 25
4205+ 0.0
-35.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.10,4

- i 315e+04 / 25
o, pO 4214+ 0.0
pl -36.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

1L 3use+u4 / 25
= po 4218+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

T rnuiLgs1e+u4 / 25
= po 4226+ 0.0
pl -35.26 + 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6, 10 1)

e, pO

p1

T L11e+u4 /25
4207+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(c, bch) (6,10,5

- pO

- nun z3ze+04 [ 25
4217+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

e, po

pl

T inai1roe+u4 [ 25
4222+ 0.0
-35.82 + 0.00

TP delay [ns]

TVC(cbch) (610,13

pO
p1

T inuiLq/0e+ud [ 25
4227+ 0.0
-35.29+ 0.00

TP delay [ns]
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4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

1000

TP delay [ns]

TVC(cbch) (6.10,6

1000

K™ 1nuiso1e+04 /25
. po 4218+ 0.0
- pl -36.23+ 0.00

3000

T rnuiLz/ye+u4 [ 25
- pO 4227+ 0.0
[ pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

T z.39e+04 /25
- po 4248+ 0.0
- pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~ 1 nuiL4ope+u4 / 25
. pD 4229+ 0.0
L pl -35.28+ 0.00

TP delay [ns]

TVC(Cbch) (6,10,3)

4000 po

p1 3

AT 1 nuiLzose+ud [ 25
4213+ 0.0
-36.91+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,10, 7

4000 fam pO
p1

[ns]

- 1nui 413e+04 / 25
4230+ 0.0
-36.28 + 0.00

3000

2000

w00l C = 27.56 [ps/ch

TP delay

TVC(cbch) (6, 10 1

T nuioole+ud [ 25
4261+ 0.0
pl -37.02+ 0.00

4000 [ue.

pO

[ns]

3000

2000

1000

TP delay

TVC(cbch) (6,10,15

4000

[ns]

Tinaig13e+u4 /25
4236+ 0.0
-35.51+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(ebch)=(6,11,0)

A~ 1 nui syse+ud [ 25
4224+ 0.0
p1 -35.27+ 0.00

TP delay [ns]

TVC(cbch) (6,11, 4

Tnun113e+04 / 25
4182+ 0.0
-36.1+ 0.0

1
EN) 10

0

TP delay [ns]

TVC(cbch)=(6, 11, 8

e pD

T L yzze+04 | 25
4227+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(cbch) (6,11, 12

-34.81+ 0.00

K71 nuiL4uoe+u4 / 25
- PO 4250+ 0.0
p1 -34.81% 0.

F C =28.73 [ps/ch]

A |
50 10!

0

TP delay [ns]

TVC(cbch) (6,11,1)

AT 1L sooe+ud [ 25

4000 fe, PO
pL

4221+ 0.0
-34.46+ 0.00

3000 |-

2000 -

100 C = 29.02 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(cbch) (6,11,5

ut

4000

1360/ 25
4197+ 0.0
-37.09 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6,11,9

4000 [ DO

pl

- rnu yz1e+u4 [ 25

4217 0.0
-34.42+ 0.00

3000 -

2000

1o00F C = 29.05 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (6, 11 13

4000 foem PO

p1

TinuiLal/e+ud [ 25
4250+ 0.0
-34.6 % 0.0

3000 -

2000

ol C = 28.91 [pS/Ch]

50

il
100

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,11,2)

-1 ssoe+u4 [ 25
4239+ 0.0
-35.78+ 0.00

-, "
L Pt
- C = 27.95 [ps/ch
=% o
TP delay

TVC(cbch) (6,11,6

[ns]

T rnuiLzzie+u4 [ 25
4205+ 0.0
-36.8+ 0.0

TP delay

TVC(eb.ch)=(6, 11, 10

- b

[ns]

T 3r3e+u4 [ 25
4249+ 0.0
p1 -35.34 % 0.00

TP delay

TVC(c,b ch) (6, 11 14

- o

~ruan 1ave+ud [ 25
4266+ 0.0
pl -35.64 + 0.00

[ns]

)

TP delay

[ns]
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3000
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1000
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,3)

- po

x- 1L oile+ud | 25
4245+ 0.0
p1 -36.65+ 0.00

TP delay

TVC(cbch) (6,11, 7

- PO

[ns]

- 1nui 41ze+04 / 25
4213+ 0.0
p1 -35.88+ 0.00

50 1(;0
TP delay

Tvc(cbch) (6, 11,11

F, p°

[ns]

1 nuiLBUZe+ud | 25
4251+ 0.0
pl -35.54 + 0.00

TP delay

TVC(cbch) (6, 11 15

pO
p1

[ns]

-1 nui So3e+u4 [ 25
4265+ 0.0
-35.3+ 0.0

TP delay

[ns]
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1000
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1000

4000
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2000

1000

TVC(CbCh) (6, 12 0)

T izoe+u4 [ 25
- pO 4179+ 0.0
p1 -34.36 + 0.00

TP delay [ns]

TVC(cbch) (6,124

-1 nuiLuB4e+ud / 25
pO 4230 0.0
pl -37.55:+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 8

T 1nuiLzyse+u4 [ 25
= po 4197+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T i 1sbe+u4 / 25
pO 4226+ 0.0
pl -34.67 + 0.00

TP delay [ns]

TVC(chh) (6,12,1)

9v46 /25
4189+ 0.0
-33.51+ 0.00

A

4000 7 po
p1

3000

2000 [

109 C = 29.85 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

4000 pO

pl

“nui1/1e+04 / 25
4226+ 0.0
-36.81+ 0.00

3000 -

2000 -

w0 C =27.16 [ps/ch

TP delay [ns]

TVC(ebeh)=(6, 12,9

4000 [

T nu.zz3e+u4 [ 25
4224+ 0.0
-34.96 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (612,13

4000 [,

T naiuzze+ud [ 25
4222+ 0.0
-34.79+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

FC =29.80 [ps/ch™, 1

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

K™ 1 nuiLuyoe+u4 /25
_l' po 4187+ 0.0
- pl -33.56 + 0.00

-1 i z98e+u4 / 25
F po 4218+ 0.0
[ pl -36.77+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10)

1000

~rnuiLyule+ud / 25
- po 4241+ 0.0
L pl -34.77 + 0.00

TP delay [ns]

TVC(cbch) (6.12,14)

T n1e+u4 /25
__ DD 4232+ 0.0
L pl -34.26 + 0.00

- C =29.19 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

po
pL

AT 1 nuiL194e+U4 [ 25
4213+ 0.0
-35.46 + 0.00

[ C =28.20 [ps/ch

L
50 100

TP delay

TVC(c, bch) (6,127

o, pO

[ns]

- nui bbre+u4 [ 25
4256+ 0.0
pl -38.12+ 0.00

50 100
TP delay

TVC(eh.eh)=(6, 12, 11

= pO

[ns]

TinuiLs//e+u4 [ 25
4263+ 0.0
pl -35.98+ 0.00

TP delay

TVC(cbch) (6,12, 15

e, po

[ns]

-1 nuiLuyye+ud / 25
4210+ 0.0
-34.23+ 0.00

[ C =29.22 [ps/ch]

PR PR S S |
50 100

TP delay

[ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 &

3000

2000

1000

TVC(cbch) (6,13,0)

-y Soe+ud [ 25
e PO 4197+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (6,134

- 1L z4ze+04 | 25
pO 4160 0.0
pl -35.41+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 13 8

T nuz4yre+u4 [ 25
Fome, pO 4196+ 0.0
pl -34.65 + 0.00

TP delay [ns]

TVC(cbch) (6,13, 12

TanuiLzore+ud [ 25
PO 4207+ 0.0
pl -35.02 + 0.00

TP delay [ns]

TVC(cbch) (6,13,1)

4000 , 00

AT 1 nuLzyse+ud [ 25
4207+ 0.0
pl -36.64 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,135

4000

[ns]

-1 nui z3ye+u4 [ 25
4163+ 0.0
pl -35.86 + 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (6, 13

4000 [,

[ns]

~ 1 nui gyse+ud | 25
4230+ 0.0
-35.2+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (613,13

4000~

[ns]

T inui ssve+ud 25
4180+ 0.0
-34.14+ 0.00

3000

2000 |

0o C = 29.29 [ps/ch]

PR BRSNS |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 13, 2)

ur

Faase. PO

PN y8U.5/25
4209+ 0.1
pl -36.32+ 0.00

TP delay

TVC(cbch) (6.13,6

[ns]

-1 nuiLz94e+04 [ 25
4167+ 0.0
-35.38 + 0.00

[oese, pO
[ o
[ C =28.27 [ps/ch

TP delay

TVC(cbch) (6, 13 10

[ns]

R ATTI W zz)e+04/25
4000 e, pO 4214 0.0
X 339+ 0.0
3000:— 1
2000 ]
w0l C = 29,50 [ps/ch] ™, ]
- 1 | -
0 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (6,13, 14

T rnuiLgi0e+04 / 25
4199+ 0.0
-34.73+ 0.00

- C = 28.80 [ps/ch]

PR IR SRR |
50 100

TP delay

[ns]

TVC(cbch) (6,13,3)

nut

4000 fu__ pO

o 2929125
4210+ 0.0
pl -36.21+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,137

4000 po
pl

[ns]

-1 nui 320e+04 / 25
4191+ 0.0
-35.56 + 0.00

3000 -

2000 -

wol C = 28.12 [ps/ch

TP delay

TVC(cbch) (6, 13 1

4000 ey pO

[ns]

T nuizoe+u4 /25
4232+ 0.0
pl -36.07 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (6,13,15

4000 E

[ns]

-1 nui byze+ud [ 25
4199+ 0.0
-35.17 + 0.00

3000 -

2000 =

woor C = 28.43 [ps/ch

50 100

TP delay

[ns]



4000

3000

2000

1000

4000

TVC(CbCh) (6,14,0)

X /na

", po

soal [ 25
4198+ 0.0
pl _ -357%0.0

TP delay

TVC(cbch) (6,144

[ns]

T rnuLus/e+ud [ 25
4200+ 0.0
-35.23+ 0.00

= pO
pL
3000 [~ ]
2000 - 7
1000 C 7
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (6, 14 8)
©1nuz,109e+u4 / 25
2000 £ pO 4180+ 0.0
p1 -33.82:+ 0.00
3000 - 7
2000 - 7
wor C = 29.57 [ps/ch] ™, 7]
1 1 -
b 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (6,14, 12

- pO

~rnuiLuyve+u4 / 25
4208+ 0.0
pl -35.12+ 0.00

TP delay

[ns]

TVC(cbch) (6,14,1

X~ rnar

4000 po

):ﬂun /25
4198+ 0.0
pl__ -354%0.0

3000

2000

1000

TP delay

TVC(c, bch) (6,145

4000 [

[ns]

-1 nui 18be+04 / 25
4206+ 0.0
pl -36.37 + 0.00

3000

2000

1000

TP delay

TVC(ebeh)=(6, 14,9

4000 pO

pl

[ns]

T nun.blpe+ud [ 25
4203+ 0.0
-34.04+ 0.00

3000

2000 -

lo00r C = 29.37 [ps/ch]

1
50 100

TP delay

TVC(cbch) (614,13

4000 pO

[ns]

Tonangaze+ud |25
4192+ 0.0
pl -35.77 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

TVC(c,b,ch)=( 6, 14, 2)

ur

T
- po

X v162/25
4202+ 0.0
p1 -35.67:+ 0.00

TP delay

TVC(cbch) (6.14,6

1000

pO
p1

[ns]

- i1 3be+u4 [ 25
4219+ 0.0
-36.56 + 0.00

TP delay

TVC(cbch) (6, 14 10

[ns]

20005 RRALEN 132e+04/25
- po 4210+ 0.0
+ pl -33.99+ 0.00
3000 -— N
2000 — '
wor C =29.42 [ps/chl ™, 7
| "
0 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (6. 14,14

F=. DD

T 1z3e+ud /25
4213+ 0.0
pl -36.22+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

po

AT 1 nuiLuube+u4 /25
4220+ 0.0
pl -35.35+ 0.00

TP delay

TVC(c, bch) (6,14, 7

wr

= pO

[ns]

1665 / 25
4236+ 0.1
pl -36.78 + 0.00

50 1(;0
TP delay

TVC(ehch)=(6, 14, 11

B pO

[ns]

-1 nuiL zuoe+u4 / 25
4216+ 0.0
p1 -34.72+ 0.00

TP delay

TVC(cbch) (614,15

= po

[ns]

-1 nuiuvae+ud [ 25
4202+ 0.0
p1 -35.52+ 0.00

TP delay

[ns]



4000

3000

2000

1000

TVC(c,b,ch)=( 6, 15,0)
T X

© L usse+u4 [ 25
"— po 4147+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 15, 4

4000

3000

2000

1000

[Fouse. PO

ar vy/8/25
4169 0.0
pl -34.37 + 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 15, 8

4000

3000

2000

1000

)
u Yyrol/25
[Fouse, po 4210+ 0.0
pl -33.91+ 0.00
FC=29.49 [psich] ™, ]

0

1
50 100

TP delay [ns]

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 15, 12

~ i z4ye+u4 / 25
[~ po 4284+ 0.0
pl -37.08 + 0.00

PR ISR SR
50 100

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

TVC(c,b,ch)=(6, 15, 1)
T A

S T y02/25
Fomme PO 4150+ 0.0
pl -34.97 + 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 15, 5

[ Y

nu Y290/ 25
4182+ 0.0
pl -33.97 + 0.00

[ C =29.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 15,9

- i yyse+u4 / 25
I Y 4227+ 0.0
pL -34.46  0.00

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 13

T zule+u4 [ 25
™ po 4278+ 0.0
pl -36.75+ 0.00

PR IS S S I
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 _— po
L pl
3000:— —_
2000:— —:
b C = 28.89 [ps/ch]™, 1
. % o

4000

3000
2000

1000

,2)

TVC(c,b,ch)=(6, 15
P ' go
[ p1

- C = 28.44 [ps/ch

o 830/ 25
4156+ 0.0
-35.16 + 0.00

50

1
100

TP delay [ns]

, 6

ur 232125
4193+ 0.0
-34.85+ 0.00

TVC(c,b,ch)=(6, 15
E ' "
[ p1

- C = 28.69 [ps/ch

50

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 15,

-

10

il 3yze+u4 / 25
4251+ 0.0
-34.61+ 0.00

TP delay [ns]

-

TVC(c,b,ch)=( 6, 15,

be, po

14

i zuse+ud [ 25
4276+ 0.0
-36.19+ 0.00

TP delay [ns]

4000 P e po

p1

TVC(c,b,ch)=( 6, 15, 3)
T

AT L ssse+ud [ 25
4174+ 0.0
-35.94+ 0.00

3000

2000

1000

TVC(c,b,ch)=(6, 15

4000 0

pl

1

nui

1
100

TP delay [ns]

7

yo83 /25
4198+ 0.0
-33.75+ 0.00

3000 -

2000 -

woor C =29.63 [ps/ch]

1
100

50
TP delay [ns]
TVC(c,b,ch)=(6, 15, 11)

4000 faus 00
pl

vau2 /25
4241+ 0.0
-34.01+ 0.00

3000 -

2000 =

1o00F C = 29.40 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 15

4000 O

T 1 3oe+u4 [ 25
4283+ 0.0
-36.61+ 0.00

3000

2000

1000

TP delay [ns]
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1000

TVC(cbch) (7,0,0)

A7 1 nui ouze+ud /25
4191+ 0.0
-36.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (70,4

- i dp1e+04 / 25
4174+ 0.0
-34.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

i pbze+u4 [ 25
e, pO 4205+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T g5 rve+ud [ 25
= po 4236+ 0.0
pl -37.61+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (7,0,1

A” 1 nuiLobye+ud [ 25
Foae po 4193+ 0.0
pl -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

-1 nun 48ze+04 [ 25
Fone, pO 4191+ 0.0
p1 -35.04 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 0,9

~ 1 nug.n3ae+u4 / 25
= po 4209+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

T inuiz.proe+ud [ 25
= pO 4229+ 0.0
pl -37.07 + 0.00
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1000
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1000

TVC(cbch) (7,0,2)

AT 1nui rzoe+04 /25
Frcee po 4202+ 0.0
L pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,6

F C = 29.01 [ps/ch]

- rnuib11e+u4 / 25
- pO 4184 0.0
[ pl -34.47 + 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

©1nuiz.4u1e+04 / 25
- po 4246+ 0.0
F pl -36.54 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,14

Tz gore+u4 [ 25
- pD 4235+ 0.0
[ p1 -38.01+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3)

AT 1nun L se+u4 [ 25
Facee po 4195+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

=1 nui bobe+u4d / 25
4208+ 0.0
-34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (7, O

T, /‘Jbe+U4/25
= pO 4243+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

T nuiz.40e+04 /25
po 4243+ 0.0
p1 -37.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (7,1,0)

X~ 1 suse+U4 [ 25
4175+ 0.0
p1 -35.56 + 0.00

TP delay

TVC(cbch) (7.1,4

[ns]

- i 339e+04 / 25
4220+ 0.0
-35.93+ 0.00

4000 pO
pL
3000 [~ ]
2000 - ]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7,1,8)
©nuiL 345e+04 / 25
4000 fanm pD 4224+ 0.0
p1 -35.34 + 0.00
3000 - ]
2000~ 7]
woor- C = 28.30 [ps/ch ]
1 -
b 50 100
TP delay [ns]
TVC(cbch) (7.1,12)
T nuiLo1e+U4 / 25
4000 po 4222+ 0.0
pl -35.05+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.1,1)

E po

p1

AT 1 nuiL Sove+u4 [ 25
4189+ 0.0
-36.42+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 1,5

“nui1/1e+04 /25
4215+ 0.0
-35.39 % 0.00

TP delay [ns]

TVCEebeh)=(7, 1,9

=, DO

pl

T inuzyzie+ud [ 25
4235+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (7, l 13

T inai ruze+ud [ 25
4219+ 0.0
-35.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,2)

o o

A~ 1 nui51ae+04 / 25
4190+ 0.0
p1 -36.49 £ 0.00

TP delay

TVC(cbch) (7,1,6

- pO

pl

[ns]

1 nuiL4u4e+04 / 25
4230+ 0.0
-35.64 + 0.00

- C = 28.06 [ps/ch

50 10'0
TP delay

TVC(ebeh)=(7, 1, 10

[ns]

RRALEDR 41)3e+04/25

4000 [, pO 4248+ 0.0

[ pL -33.33 + 0.00
3000} 7]
2000} .
oo C = 30.00 [ps/ch] - ]
[ | ]

¢ 50 100

TP delay [ns]

4000

3000
2000

1000

TVC(c,b Ch) (7, 1 14

F= 50

Sinu Lore+ud [ 25
4223+ 0.0
pl -35.65+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,1,

A

po
pL

3)

nuiL s11e+u4 / 25
4219+ 0.0
-36.14 + 0.00

TVC(c,b ch) (7 1,7

-

b pO
p1

1
100

TP delay [ns]

nuiL 2yve+u4 / 25
4237+ 0.0
-35.87 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7,1,

1)
T nan 1 pye+ud / 25
4260+ 0.0
-34.6 £ 0.0

[ C =28.91 [ps/ch] ]

1
100

50
TP delay [ns]
TVC(c,b ch) (7,1,15

X1

nui 45 e+u4 [ 25
4226+ 0.0
-35.11 + 0.00

1
100

TP delay [ns]



TVC(cbch) (7,2,0)

4000

3000

2000

1000

A7 nun usze+u4 /25
4203+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (72,4

4000

3000

2000

1000

- i bbye+ud / 25
Fane, pO 4183+ 0.0
pl -35.17:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7,2,8

4000

3000

2000

1000

0

T rnuiLgse+u4 [ 25
4230+ 0.0
-37.31+ 0.00

0

TP delay [ns]

TVC(cbch) (7,212

4000

3000

2000

1000

1 nuiL4yse+u4 / 25
pO 4212+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,21

AT 1 nuLuyse+ud /25
- po 4188+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

=11 bbae+u4 [ 25
o pO 4203 0.0
p1 -36.04 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 2

Tinug1u/e+ud [ 25
po 4235+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

T inuia3ye+ud [ 25
4210+ 0.0
-35.71+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

Ty zze+ud /25
Fuue pO 4197+ 0.0
L pl -36.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

- i b13e+u4 / 25
- pO 4187+ 0.0
[ pl -34.47 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

-1 nuz 119e+ud [ 25
e, po 4252+ 0.0
[ pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

~ 1L be5e+U4 / 25
4223+ 0.0
-35.4+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3)

T Lzze+ud [ 25
pO 4210+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

-1 nui bale+u4d / 25
4208+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 2

T, /U=e+u4/25
= po 4257+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

T nuiasve+ud [ 25
po 4228+ 0.0
p1 -35.52+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

A7 nun zsse+u4 [ 25
P po 4183+ 0.0
pl -35.89 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- L 28 e+04 ] 25
P e, pO 4176+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

©rnuiLguLe+U4 / 25
po 4192+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T rnuiLb1oe+u4 / 25
pO 4213+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

AT rnunLssze+ud [ 25
- po 4192+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

-3 3e+u4 25
= DU 4186+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nu.zuse+u4 | 25
= po 4212+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

~ 1 nui sbye+ud / 25
4204+ 0.0
-36.21+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

2000

4000
3000

2000

TVC(cbch) (7,3,2)

K™ 1 nui4s9e+04 /25
Foeaen po 4199+ 0.0
- pl -36.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

-1 3oze+04 [ 25
- pO 4190 0.0
[ pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

1 nuzpoge+ud | 25
= po 4230+ 0.0
L p1 -37+ 0.0

3000

TP delay [ns]

TVC(cbch) (7,314

1000

T L blpe+u4 / 25
pD 4209+ 0.0
pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.3,3)

A1 nuiL4a5e+U4 [ 25
po 4199+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

-1 nui 4n3e+04 / 25
4194+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (7, 3

Ty b4E+U4/25
pa=r, pO 4237+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

Tinuiaz/e+ud /25
po 4221+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0

A7 1 nui ooe+ud / 25
Frcsa po 4187+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (7.4,4

T i zzze+04 | 25
Froesa. pO 4210+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(eb.ch)=(7, 4,8

~1nuz.yoze+u4 | 25
pD 4211+ 0.0
p1 -34.84+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

T L gz4e+04 [ 25
= po 4216+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,1

AT rnunr1se+ud [ 25
I e po 4183+ 0.0
pl -35.05+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 4,5

“nui4z/e+04 [ 25
e, pO 4213+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

~ 1 nug.Usse+ud / 25
4232+ 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,13

T nai r3se+ud [ 25
P 4223+ 0.0
-35.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (7.4,2)

A7 1 nun osse+u4 / 25
.. po 4191+ 0.0
o pl -35.77+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,6

1000

-1 nui4p9e+04 [ 25
==, pO 4224+ 0.0
[ pl -36.61+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

T nugs41e+04 / 25
- DO 4247+ 0.0
L pl -34.74 % 0.00

- C = 28.79 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7.4,14

~ 1L pyse+u4 / 25
__ﬁ pD 4212+ 0.0
L pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,3

AT 1L g roe+u4 [ 25
F po 4195+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

- nui bae+04 [ 25
e, pO 4231% 0.0
pL -36.78:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

1)
T nuzgs1e+u4 [ 25
= pO 4250+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

T nai ro0e+u4 [ 25
E pO 4233+ 0.0
p1 -36.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

A7 1 nui zuse+u4 / 25
4185+ 0.0
-34.91+ 0.00

Fe E
1 L -
50 100
TP delay [ns]
TVC(cbch) (7 54)
“nuiL1z74e+04 / 25
3 pO 4188+ 0.0
pl -34.54 + 0.00
e E
1 L =
50 100
TP delay [ns]
TVC(c,b ch) (7, 5 8

T rnuiLgr3e+u4 [ 25
po 4205+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

1L 5ove+u4 / 25
pO 4238+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1 nuiL1y4e+U4 [ 25
P e po 4191+ 0.0
pl -35.21+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui 18be+04 / 25
Fruee, pO 4209+ 0.0
pL -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (7 59

<1 nub.p45e+U4 / 25
= DO 4217+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

- i1 43e+04 [ 25
[, pO 4238+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000

2000

TVC(cbch) (7,5,2)

AT 1 nuizsye+ud /25
e po 4210+ 0.0
o pl -35.78+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- 1L 2u8e+04 / 25
. po 4205+ 0.0
X pl -35.03+ 0.00

- C = 28.55 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T 1nuigsz9e+04 [ 25
=, DO 4237+ 0.0
- pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (7.5,14

1000

~ 1w 4o8e+04 / 25
DD 4241+ 0.0
-37.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3)

Foe po

pl

AT 1 nuiLsuve+ud [ 25
4216+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

RRATCIE

pO
pl

3be+u4 | 25
4216+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

= pO

EEALEVX uaze+u4/25
4240+ 0.0
-36.14 + 0.00

pl

TP delay [ns]

TVC(C, bch) (7.5,15

P, pO

T nui s3ae+U4 / 25
4226+ 0.0
-35.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (7,6,0)

[Famue, po

AT 1nuisure+ud /25
4225+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- i b38e+u4 / 25
4205+ 0.0
-35.32+ 0.00

4000 pO
pl
3000 [ ]
2000~ E
1000f C E
1 1 -
50 00
TP delay [ns]
TVC(cbch) (7,6,8)
-1 nu zoge+u4 [ 25
4000 e pO 4186+ 0.0
-33.88+ 0.00
3000~ E
2000~ E
wor C =29.51 [ps/chl™, 1
1 1 -
0 50 00
TP delay [ns]
TVC(c,b ch) (7.6,12)
© 1, s4ye+u4 / 25
4000 [ pO 4200+ 0.0
pl -32.35+ 0.00
3000 E
2000~ 1
woor C = 30.92 [ps/ch] ™. 1
— 50 * * * * 1C:0 s

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1)

Fruese po

pl

AT 1L zeoe+ud [ 25
4227+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (7,6,5

PSRALEY

) po

11e+04 /25
4224+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (7 6,9

T nuy.1/4e+04 /25
4222+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,13

T inui 1sse+ud [ 25
4234+ 0.0
-35.29+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000
3000

2000

1000

1000

TVC(cbch) (7,6,2)

== po

pl

AT 1nun s4se+04 /25
4222+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(cbch) (76,6

- 1L Yo4e+u4 / 25
4237+ 0.0
-36.21+ 0.00

- o
L pl
[ C=27.62[ps/ch
S(I) 10‘0

TP delay [ns]

TVC(cbch) (7, 6 10

pO
p1

T 1nuizyyle+ud | 25
4245+ 0.0
-35.72+ 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1 nuiLbyve+u4 / 25
4247+ 0.0
-36.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3)

aane, po
pl

AT 1L 4pse+ud [ 25
4239+ 0.0
-36.44 + 0.00

TVC(c,b ch) (7 6,7

pO
pl

1
100

TP delay [ns]

- 1nui 9y /e+u4 / 25
4250+ 0.0
-36.53+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7, 6

= pO

SRR yu/e+u4/25
4234+ 0.0
-34.96 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

T nai ro3e+ud [ 25
4238+ 0.0
-35.563+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

TVC(c,b,ch)=(7,7,0)
T AT 1e+04 /25
4205+ 0.0
-34.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (77,4

4000 =

3000 -

2000 [~

1000 [~

- 1 nuiLu4a4e+04 / 25
ease pO 4201+ 0.0
pl -34.75+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

4000 =,

3000 [~

2000~

1000 [~

Tz 1use+u4 / 25
PD 4215+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (7,7,12

4000 o

3000

2000

1000

~ 1 nuiLpuoe+u4 / 25
PO 4221+ 0.0
pl -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

A~ 1 nuiLUsbe+u4 / 25
[ PO 4217+ 0.0
pl -35.37 + 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

~ i 11ze+04 [ 25
- DU 4212+ 0.0
Pl -35.47+0.00

TP delay [ns]

TVC(c,b ch) (7, 7

T rnun.b/1e+u4 [ 25
= pO 4230+ 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

T s /ye+u4 [ 25
- PO 4219+ 0.0
pl -37.52 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

i

Y036/ 25
4216+ 0.0
-35.03+ 0.00

[Foeee, po
L pl
- C = 28.55 [ps/ch 1
% i
TP delay [ns]
TVC(c,b ch) (7,.7,6
- pO

pl

- rnuiLz2u1e+u4 / 25
4231+ 0.0
-36.13 + 0.00
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